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? 97)1 know that my brother is abroad for business, but his car is in the garage.

ji He....... Have come back.
f ‘ May =5
] B. Must g’j
C. Might
D. Should y

98) He did not comply with the rules and regulations.

The word "comply" is closet in mean to:

Cbey

B. lgnore
C. Testify
D. Consult

«  100)A "run on sentence" is:

@ A sentence can be broken into two or more ciauses.
B. A sentence which carries a declarative statement.
€. A sentence which ends with a full stop
D. A sentence which has conjunctions

e

101)"You had better stop here for petrol as there is no gas station for the next

20 Kid". The purpose of this utterance is: \ . ‘-

q_,/_,.e,d \ (}S dﬂ hch !ggﬂff 4 “L‘S
SN o

A. Warning

' Advising un.U

C. Threatening
D. Complaining

103) "I have written several books" The professor said that:

A. He had been writing several books "
AN
He had written several books Q I'4
{///

C. He has writing several books
D. He wrote several baoks

104) A compound word is :

A. A word that contains a predicate

B. One word that function as a sing word

C. A combination of phrases that function as a single word "ci,f K
A combination of two or more word that function as a single word : Lo

Zf f(,)o\;'%fé(}éf‘ﬂ F \}\ Caio o 2L 2 SO o
e GreenhoUse ~ st hishsdipel
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ll 105) The sounds [t] [d] are:
il A. Velar /'é / /3 /
B. Bilabial
@ Alveolar \9 3 k )
}J . b. Pharyngeal
s 106) I have been working on this project............
: g 0 For
i]" . B. Since
[ C. From
m D. Within

107) He drives...... .........

|I| ‘3 A. Llikely ¥
.= B. Lonely
l ) @ Slowly __—
y D. Hardily
’lg 108)I..................... on this book for the last 10 months and I have not
finished it yet.
II ]
Fy - A. Had worked

El.’-:. B. 'Have worked P Q_\ 62 _&M
¥y - C. Had been working CQ""’"%’\ M e
- JHave been working

110)An utterance is:

u-- A_ A grammatical notion
® A spoken word or sentence
n C. A written word or phrase sentence
A D. A reading paragraph sentence

J 111)1dentify'he voiceless sound among the following:

I A /b/
wC B. /df
! c. /2/

P /el

I Voiceless sounds ares, [ff T 1k1157 h} by 51 181 19y

A1) s
I \W\)\h rD/

I Voiced Sounds ane gy, H81 31151
L) I-J/ I"/ /



112)"able"” in the word "portable" is called:

A Anaffic AN offFiX fs either oPrefit or SuffiX.

B.. A prefix A Pred-ih s Wed at the bmtnm‘g DF‘WOr‘df
-@‘As?fﬁx R sufEN 8 used at the end & words -

D. Aninfix AN \V\'Fﬂk IS' ugecy |h "H'\{ W\Id‘[,o_ D{‘ No“d{

115) I am glad (that you can come). The phrase written in italic is called:

A. A prepositional complement
@ An adjective complement
C. An adverb complement
D. An object complement .y

o
116) An attributive adjective comes beforea ....... But not after copula verbs
like b.... seem etc. U\“ 2) d‘ qt‘trlbu‘lﬁ\\'ﬁ/‘“"a)-/a’m
A. Verb %é :‘ (’ J_S.’;:—J"JJ
None Ulb‘ 9 bDUSQd - N r
C. Pronoun.
D. Sentence
® Nouwn

117) In the sentence "it is nearly done"” the word "nearly” is

\
@An adjunct - - \ﬁ/
. An adjective .

C. Adisjunctive

—

4 e

D. A demonstrative ] " '
Loy B 7 G

118) War;dg_‘b_gon, meanmg and use i.... context are studies in:

; J -~
-/@ Phonolog A w“r

B. Typology '/
C. Clauses o-’f

@ Lexls ’]?f-b

(o Aot

114) We have seen . thezr JSather but their .......

A. Neither
B. Either O

LR



] 115) A: "Did you get my letter?" has 51 have [oo—
’l B:"Yes, I...... Jjust received i q\ffg_o]j; d uSJC \ o =z 151
— d o= O Sinte
A ls ‘ .5 r s i
'I B. Has ' b —
r C. Was

F Have
of ) 107) ....... Is a type of communication that is ..........mentioned in the
?~ - passage.
F A. Writing 297 /

: B. Using runners ’

C. Talking
," D. Using smoke a— #=
(2 oLre . .

E[ 108) A synonym for the word "dilemma’" is ........

. . A. Facet
!] B. Concert

: @ Problem (
F“ D. Knowledge

* 84)Readingisa...... K
PE -_ A. Productive skills in a written mode ——— v ‘:;V_\;j o
ll . Receptive skill in a written mode - e N Z/ € _.,

:' : C. Productive skills in an oral mode—> ¢Peaq king © T
u D. Receptive skillin an oral mode ———— \{sben ny

' 85) ......... do not influence second language Acquisition.
I o Gy Tamu)n LD

A. Environment and interaction factors
B. Technological factors

i @ Individual factors 2. > leJ\(}ﬂ_‘_#J \ %

D. Cogmtlve factors

86) Non-interdctive listening situations involve ......
I | A. Conducting

B. Face-to-face conversations
| C. Llistening and speaking alternately
Listening to radio or watching TV and movies

A C)_Sl_,u'-)r
cera s\ ee Ao las A

iy



87) Writing seems to be the hardest skill, even for native speakers of
language, because it involves ......

;

@ Considering the graphic representation of speech and the development and presentation of
thought in a structured way
B. Using the register or language variety that is appropriate to the situation
C. Recognizing acoustic of prosody
D. Guessing word meaning from context

109) When the phone rang. I ...... a newspaper,

A. Had read
B. Have read

Am reading A L es as "
@ Was reading We“ _|_U L")‘QJ/""]J 9 I(,\’Ve{-e;‘lT \H-@

110) Tomorrow I'm going 1o ...... at the new hairdresser’s.

A. Have cut my hear
Have my hair cut
C. Cut my hair
D. My hair cut s -
Y R fj;
111) The childwas told 1o ....... For being rude to his uncle.

Apologize ./ 2
B. Confess

C. Forgive
D. Excuse

‘ 71) In an English language classroom, how do you explain to your students a
!r new aspect of the foreign culture?

A. Istart explaining the unfamiliar aspects of the local cuiture then proceed to discuss the

i] __ familiar ones of the foreign culture
| start explaining the familiar aspects of the loca! culture then move towards the unfamiliar

] ones of the foreign culture
ﬂ C. ) avoid explaining anything about the foreign culture

D. |start explaining the unfamiiiar aspects/of the foreign cuiture
j o
o 72) English language learners have various expectations and learmng styles.

Therefore, English language teachers mast be amyle that: CJ/ o A

B4 pa & &) LAl U.J‘)/)P /
.l i . )//_/ \

~ \,./»')/
v J

/ -
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ﬂ 74)competent English language teachers should... ......................
A. Make their students aware of the different varieties of English at different levels.
Use several varieties and models in their class of English

C. Not introduce varieties of Englishto the student
D. Use any one specific English variety.

+

75)Language variation is:

&
) Lo W50
A. Not systir:rllath/*"__“—J
. An inhererft part of the language

C. Not sodially and linguistically constrained
D. A clear indicator of the speaker's nationality

b8
¥

fa = - \? e
! H

* / \
i 76) Language is a/an ... ..... system of vocaffyan:bals
< 3
d' A. Rational i it /j’d
!L Arbitrary C;' P %
L, C. Llogical =
¥ D. Small

- 3

77)One of the most common sources of new ward in English is ............ For
example, in English "alcohol” hes been adopted Arabic, "bos....." from
Dutch .... et

A. Compounding P

@ Borrowing @ity /oao [
C. Blending

D. Clipping

ltolf o  Goicsg Wt o
[ i '

—

%7 Y . e~F L& (‘L:.,P’ i;-’ .
7" ad, 44 Ly The most important criterion of a good tes.tils...... , the degree to

which the test aclus.measures what is intended to be measure,4

a1
o
o

e ¥

;[ A. Validity @
Reliability +- <)
F| C. Proficiency
I D. Practically
¢
I
|
I -

N . 1




/£ g ﬁér

) A suggested activity to improve listening is to retell listeners a well-known
story. They will ...... motivated to ..... and enjoy it. »
Y W

A. Use facial expression

II
I
II B. Understand the events LL;/ v )/_\:/
I -
i

@ Record the response

D. Performactions !
éjb-(J \ o =¥ UM .
) Pictures from Jjournals and magazmes ca..... used to stimulate.....

- A_ Listening and speaking

B. Writing and Listening
C. Reading and writing

-

ﬁ Speaking and writing
o L:
il 82) The most important criterion of @ good test is ....., the degree to which a
=L it
test actual measures what is intended to be measured.
H: A. Validity e /
!I : @ Reliability
C. Proficiency
ll D. Practically C;}-;—:
116) A:"What are you _lg@zg_f_o_r?"
g B:"l can't remember where l...__...
;l ‘ Left j()/""
B. Lleave
C. leaved
!J D. Was left
i
I
]
]
!
I
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Proficiency Test for English Language Teachers (B)

Section Three : Grammatical Siructure
Directions : Questions 1-14 are incomplete sentences. Beneath each

’ sentence

- you will see four words or phrases, marked (A), (B), (C), and (D). Choose
i the

[ - one word or phrase that best completes the sentence.

II
}

PR

}or 3months

during 3 months
¢) since 3 months
d) whilst 3 months ’ )
2- I haven’t met this week. Vu”)l & m [.
a) much people —
ﬂ anybody
: €) no people »
Ei d) someone PRV

3- Send him to the baker’s some bread.

!‘ a) in order he buys

+  byfortobuy
| (c) fo buy N
- for buying

| éi will have been there
i o
| -

e

T

ﬂ
;

I

. 4- the baby while I'm in the kitchen.
!T a) Look to
' b) Take care ,
i Look after A
d) Care
d S5-It iooks it’s going to rain.
a) that .
il (BYas if o V5
C) as
| d) like that
- 6- He was very angry his wife.
[ a)on

Proficiency Test for English Language Teachers (B)

B) to -
pat- Sar

d) upon Ve V(_JL? Jv‘ee W [ sing

[ . ‘ 11 hﬂj

£
angry+ a
= Tuitn)

I



‘I 7- When we arrived at the office we found that someone —’
‘ during
the night Atk bod =+ £
| ad broken in u’L\em — w[%;;(; S;MGL&7 ;a_j*_ A4
Ii ) b) has broken in e—
s c¢) broke in
J’ . d) have broken in
8- Studying English is hard at first, but you soon
i i a) are used to it
7 b) get use it
| c) are use it -
? @get used to it L}UD’MA{’
9 - Not only to London , but she aiso visited other less
well
krown cities in England.
_IJ7 ~ a) she went
¢ b)wentshe
i did she go
d) she did ~Z
=|: i0- Now remember, you the test until the teaciher tells
you

_;L ’ 10. , N -
R are not starting (g&' W

i- pare net to start
<. c) haven’t started i
I d) needn’t start
K 11- had we started waiching the film when our friends
I came -

round for a chat. /)j, !z!’ ‘A,a/1 = bu 51
I @Hardly -

b) Slightly Clee — 1 =l " o S
: c) Little 4 A
ﬂ _ Proficiency Test for English Language Teachers (B) G.‘j_)' f_‘Afr J 9 |

[
[ - ;. /CJ
L d)Rarely  5olar 7 L

i2- She was thought the car in London. /

L @by = o
b) buying /

i @to have bought e

|-_ d)mightbuy}(ﬁ \ (/’
@ pol ov'y Ueyb’f juLjrec‘/’e\

wevey
po soon’ did . do, doT

1:] A A

YN R I, . N.iw 1,-,/,:{ ~



3- Our house as soon as possible. It’s in an awful state.
@. eeds redecorating

b) to redecorate S22 NN
c) redecorated =z
d) i1s redecorated
14- He eventually managed the door by kicking it hard.
2) open T 4o Aove
b) opening v

¢y 1o open

d) to have opened

Section Four : Vocabulary— bt
Directioas : Items 15-19 include sentences with missing words or phrases.
From the words or phrases below each choose the one that best completes
the
sentence.
15- The initiais G.C.C. Gulf Cooperative Council.
a) look for -
b) account for
¢) make for v -
@stand for~ 7t =y
16- You don’t have to be worried about the journey to the airport.
Your
brother is going to

a) take you off
AG)see you oif c)“*p L
<) bring you up )

d) give you for
Proficiency Test for English Language Teachers (B)

__~- My father and I have the same character, I him much

more

than my brother.

a) look at

b) take off

¢) look up - S
take afterqmo N e

18- Stop thinking about it. Don’t let this result

a) get you off

et you down ,Le/x.ﬁ

) get you on
d) get you up

1A



I

19- Please make your check to Saudi Business Machine.
a) payment Sl
b) paid <77 o -

e ) ) Vorin D

Directions : In each sentence below there is a word in boldface. From the
words below each choose the one that has the nearest meaning to the
boldfaced

ord. ¢ A

20- The Roman armies were defeated in 622 A D.

a) inscribed )

b) enlisted

c) retreated N
ybeaten ~ )

71- Bad deeds are disgraceful. J L !
yshamefel N ’&j\_y/ \

b) beautiful

¢) shy

d) happy 1»,c ’

22- He is an aggressive person. he does not care about other people’s

feeling .
Proficiency Test for English Language Teachers (B)

a) passive ~
offensivefy o

c) attacking L
d) opponent o a0
23- Sorry! The general director is not available today.
a) active
b) passive S
2ro —
d) connected
Section Five : Reading Comprehension
Directions : Read the following text carefully. Then answer the questions
on
the basis of what is stated or implied by the text. Choose the word or

phrase

e
that best completes the sentence YA Bav R Ppyvya
1- Visitors to America are immediately struck by the tremendous numbers
. /
Ohf)}lf"/ \ ~ o] Gy AP o St

automobiles filling the highways and crowding the city streets. The
automobile, which has tgansfpnned the American way of life, is the almost

yy e =
Lp /@on ad (#

Ve

(% 4
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L) e 1
indispensable workhorse of the famﬂy During the week, the father drives

it to his f)’L_b in the city, alone, or 115@ ‘car pool” arrangement with several_ L o
of his Tellow workers_-When he ]eav%s it at home, }Isg;fﬁseh‘\\
cp’ﬁstantly to do €rrands, to haul groceries, to drive children to 1éssons of

appomtments to shops or smmmmg pools. On weekends the family << =
m the cog_try for a picnic lunch or may tak&a 1 tnp of several

hundred miles. Oryvacations, no comer of the country is beyond the

family’s reach. 2 " >yu\ JAVS A
2- All of America has felt the changes, wlnch came with the automobile
and - h/ﬂ . = ’,JZ}) \ = ) )2 -t

with the network of highways that have been built to serve it. Farmers, _* >

who live far from th 1r neighbors, are no longer isolated. Tractors of the

work of the many f; Ié;lds they caa;mt afford to hire, trucks ca carry their
TEE———

products to market, t storage elevatorsg; to railroad¥-> 2 N

3- Traffic jams in pltles qnd along the ‘{Qproach esto cmes especially at

morning and evenifig Tush fiours and atg_ the start and end of weekends, are

difficult problems. How to_find out énough parking space in the cities, ©
even with underground parking lots and many-storied “plgeonhole” NGRSl
Proficiency Test for English Language Teachers (B) ﬁp © L7 F :

_ CJ\jJ , -~ Z;‘/
parking structures in another. More highways and wider ones are needed

as fast as they can be built.

24- "The main topic of this passage is
a) The American Family

b) The American highways

c) Major American cities

(dYXCars and the American Life %m;i\,g) ,
25- The automobile has had on the American society.
a) A little effect
b) hardly any effect AT

(Edn‘obvious effect & 2T L
d) no effect whatsoever
26— The American father

always drives alone to work o s
(0))may share his car with other colleagues

¢) drives his children to lessons
d) drives his wife to haul groceries
27- The Amer L}can family may sperd the weekend
a) abroad /7 ok’
b) in downtown ,y
éout of town ¥ 2./ ¥

S
d) in a family gathering W




o

Sy e

L. . V—

-

28- Thanks to the antomobile, all American States have become

{a) within reach % L\.._(,q 7

b) more isolated

c) beyond reach

d) torn apart

29- Miost American families cars.
a) cannot afford

b) do not badly need

¢) do not have
oficiency ’l:;e‘s/tfor English Language Teachers (B)
//““,"j; Yy )
3y cannot do without
30- The word ‘which‘ in the first line of the second paragraph refers

———

to -

a) all Americans

utomobiles L
[c)changes < e - \ la
d) traffic " e G !

Section Six : Linguistics and Pedagogy
31- Phonetics deals with the properties of sounds as

represented in variations in the sound qugﬁ o 3_0_5
YAcoustic 5 . — 77

b) Articulatory (K A SISO

c) Auditory

d) Generative S, o)y oa b l

32- When a speech sound undergoes a change in articulation in ZE';\
?

connected
speech, becoming rore like = neighboring sound, this process is

known as . - oo
(® Assimilation/ V> *
b) Aspiration
¢) Adaptation - A
d) articulation <~ A S AR P
33- The strong version of the Contrastive Analysis Hypothesis ? )

d)u:, M fCL‘ﬂ‘Jl

(a)attempts to predict all errors produced by L2 learners

b) deals only with errors resulting from L1 interference
c) does not predict L2 errors but only explains them

All of the above 2
Proficiency Test for English Language Teachers (B) Q Q '
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34- According to the nativist theory, the key factor that determines
success in first language acquisition is . ~—#- oS~
a) child general intelligence
b) amount of exposure to language ,
@imitation of parents /. Jip) V24" c \»
) teaching techniques employed
35- In stzndardized test . </ t0 L5
a) the writing and evaluation of the test are done by the same person.
he number of subjects tested is usually large. _~
¢) We make use of composition and short answer techniques.
d) All of the above ¢l
36- serve to indicate the extent te which an individual has -, 2
mastered sp_e’c_l_iic_sln&or body of information étcjljged in a formal
siteation. 272 o
a) Proficiency tests
b) Aptitude tests » (o
@A chievement tests Aot Xt 5D P
d) Objective tests
37- Dictation is a useful testing technique that can be used to test
. PN 2 7‘:-—11} > ) _/J?
a) spelling ‘ 2, f (D
b) listening comprehension N, A ” l:.
c) general proficiency éu}’ o f
@ all of the above L Ay
38- O_l_)!w&t_s are these in which mdwndual items . La:)
ave only one correct answer > b ¢
b) can discriminate among examinees
c) are balanced m length and difficulty

d) have appropriate distractors SR ety
39- According to Dell Hymes, the know.edge of rules for the conduct
and - S A et

/.5‘_4.9{_.,_} A
interpretation c¢f speech is keown as . -
a) distinctive competence “ (>

Proficiency Test for English Language Teachers (B)

B) grammatical competence Lo
communicative competence
d) linguistic competence PR

Yy
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40- In my opinion the errors that 1.2 learners produce are .
a) signs of imperfect leaming and should be eradicated _
((® natural by product of the learning process W L prm SV

c) signs of poor teaching IRV S

Tﬁrf}s gsult of L1 1nterferean)_7 oy
e ideal linguistic input (i.e. speech addressed to L2 learners) for

acqumng s a second language should be .

a) comprehensible (<t Z ol (9

b) relevant to the learners’ immediate interests

¢) not too complex =~ Azeo
@aﬂ of the above L o ‘om0

42- Individualized instruction is basically the recognition that

S

a) students have different needs and abilities L L o W N

b) a single method may not be successful or appropriate to all students

¢) students learn at different rates of speed

@) all of ¢the above 1,4 QoS Sy Ny

43- Gardner defines integrative moﬁvatmn as the learner’ desire to
S N s s

@be identified as a member of the target culture

b) get a high pay job

c) obtain a prestigious social status

d)B&C pf’ BAEN e

44- In learning foreign languages, the critical period hypothesis

stipuiates < o/

that . éLffJ |

 children are superior to adults

b) adults are superior to children

c) children and adults are equal
Proficiency Test for English Language Teachers (B)

(’U/” o
d) None of the above. o LAl A k)N
45- In the approach/ere is ¢ependence on mimicry,
memorization of set phrasw, and over- lear-nng

a) communicative \&'\ AN Vi
aundio-lingual ‘//V }/g}

Cc) cognitive -~ 1,.?
d) linguistic
Ado s 3/;’ o
o lrn-{-eq-w’{‘{vg Mmoot oy
VY
< q
@ \Msf}’umenfa)& Me +) va 16>

---—_—-'-_-‘-.|

-

ot 1



ﬁ] 46- In the audio-linguai approach, there is emphasis on .

@ppronunciation. Ge
il b) communication
C) intonation ,
1 dvothazc o Sy
P 47- Of the four skills of language in the one that is least
!] . tnderstood.
f' (a) listening
j ) b) speaking
33 ¢) reading ,
j d) writing ¢ 502>V e 1D e
5] 48- Using monolingual dictionary work, and the key word method are
widely used to teach .

a) speaking

b) reading

¢) writing o

(@ vocabulary < Zad

49- Teaching grammar goes inio the foliowing three stages :
@) Présentation, delgofﬁégration and practic&<~ <~

b) Teaching rules, providing examples and doing exercise.

c¢) Teaching, demonstration and homework

d) Reading, demonstration and writing.

5C- A literate student can acquire the detziis of reading iz a second
iangnage an illiterate one. % Sl 05 )|

a) shower than <>’ g
Proficiency Test for English Language Teachers (B)

b) as fast as T
¢) as slow as o et

(@) faster thar [ Syely
51- Teaching receptive skills means teaching .
a) speaking and reading

(b listening and reading
c) speaking and writing
d) writing and speaking YT I,

—_—

52- Grammar teaching is concerned with explicit teaching of language
CANF e i

b) meaning
C) use
d) words

Vi



53- When we ask students to read a text, e\@_lLaj;e it, and react to ii, we
are o X i,‘y M,
teaching .
a) thorough reading -, . o
crifical reading 70 45 2
c) scanning
d) skimmmg - A2
54- The purpose of teaching speakmg 1s to allow students to
DY L gl
@express themselves
b) repeat sentences
c) repeat what they heard in the classroom =)
d) express language function w5 2 "
35~ A test that measyres the learning of materiai in a particuiar couyse
is 3 "‘U dkb‘-) ) P 1D

called a (n) test. .
a) close G
b) multiple choice

c) aptitude (8 é{)
Proficiency Test for English Language Teachers ()

s

@achlevement = Tt o 72 /u
56- are not based or a partlcular program,

a) Progress Tests )
(B} Placement Tests s
c) Achievement Tests
. /
d) Proficiency tests “he o)
S7- A test that r((:fﬁiges filling in words in words that have been
deleted &r 557
from a paragraph is called a (n) test.
@ close — <= 2
b) achievement
¢) multiple-choice .
d) true. false ,\ 5 27rmees
58- Testing experts consider dictation as a test of .
spelling
b) general language proficiency-
¢) listening A Ay — l

(@pall the above

-
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S39- A close test is generally used to test the skill.
reading

b) writing

c¢) listening

_ d) speaking R J PR

- 60- Language test results are beneficial for .

a) teachers and the administration

b) students and parcnt.;;é’uq
curricuinm and syilabus desngners

d) using word e—ﬁlﬂons and meanings

61- “While one greparss his test, one shounld .

a) spend ade q%ate time in ge_vglgp_mgnt

b) match his tests to the content “Ceics A~ Fe g

c) make his tesf—vﬂld reliabje, and balanced O p et

Pyoficiency Test for En hslfL?nTguage Teachers (B)

@be all the abowte)‘f;g‘0 C— 45
62- The language !ab is omt used in the teaching of .
a) good writing
b) reading comprehension
c¢) free conversations
listening comprehension U % .y
63- An everhead projector can effectively be used to teach .
a) reading and writing only
b) speaking and other skills
c) listening comprehension especially -
grammatl structures mainly o

I( 64- Fiash cards are colﬁlmonly used to teach .
. grammatical structures S A
0y vocabulary items
!i C) WIILing exercises
i! d) reading aloud il ~ 8D
‘ 55;}}’ e can use both flannel boards and 'nagnetlc boards to display
pictures and cards. However, . iy
'_, - a) flannel boards are more effective |
N b) magnetic boards are easier to use
1. c)they are similar

halkboards are better than both
! VA
3 e 577.¢

¥




66- Composite piéures may be effectively used in the teaching of
@speakmg and writing A \es
b) reading comprehension only
c) grammatical structures mainly
d) young learners only
67-Using technology in teaching help to.
a) present demonstrations = Lelo
b) enhance course content e
¢) provide additional illustrations o<1 oS Fa
@ all the above

1" A% % &
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T@®observable and measurable. ¢~ & 5 £

d\@ sk:unmmg@ scatyzﬁg c. silent reading d. comprehensmn _/_{ 1
-

e e o . S

1. Spectfic ob]ecttves canbe .............

b. difficult to be observed and measured.
c. focused on the student’s behavior during a long period of time.
d. 1 and 3

2. The smallest meaningful unit in languageiis..............

a. phoneme.@ morpheme. c. allophone. d. allomorpheme.

3. Linguistic approach concentrates on................. 5
a. key role of self — esteem and sense of mastery. .
(B value of talk in the development of thinking. -~Le” 1

c. social interaction is the key to success in learning.
. attention on complex nature of thinking.
" What about gomg to the cinema" is an example of ...
advising b. warning c. offering help(d) suggesting o /.r ;
. One of the following is not a type of literature: < 7
. drama b. poetry@ﬁctlon d. prose Lo
. All the following may create dtscgplme problems except ..
. using sarcasm, .~/ Fosae Tl =
. insisting on apologies

NG\NMP:&Q

making threats /

using classroom language that suits the level of students!

"To look quickly through a reading passage to find something" is
called

8. The man told his children a . % Abi............ about fairies 7"
a. tailtale c. tile d. toll '
9. When the teacher allows students to think, and gives more time,
the result willbe......... ...

students responses becoming more thoughtful and creative. s
b. less students offering to answer.
c. students willing not to ask more questions.
d. students giving shorter answers.

B Dees Jus ) Aoy, e
10. . eeeeas " refers to the actions of the organs of speech in
the producmg of the sounds of Speech =

a. Acoustics b. Phonetms@Artlculatlon d. Phonics /

11. One of the following is not a Shakespeare's play:

a. Macbe Volpone c¢. Twelfth Night d. King Lear

12. Two of the following are receptive skills: o

a. reading and speaking b .speaking and writing s

c. reading and writing{)listening and reading n/ l-(-“-'?'/ )
13." Kinesics" is the study of eeeeae.

a. sounds b. Ianguage@ gestures d nature

P
1/ YA



I‘ 14. Can you close one of the windows, please? I'll catch a cold sitting

in this .q........all day.
a. ﬂood@ifbreeze@wmd@draught Co Lo
15. Which abbreviation do you use when you want to add something
at the e aletter? ™ _ .. \
a.PS. c. PMd. PLZ/
16. I am very tired. . <ee-e-.. OVer four hundred miles today _Lo\/q— Pe
a. I drive(b) 1}6 driven[@T've been driving d. I'm driving Pt
17. How ..are you?,
a. wmgh@heavy c. hlgh d. long /a/cb’
13. The prefix ante in the word ante meridian means....................
a. together b. aéfaﬁgtizz before d. by oneself
19. The stress in the word "comfortable” ison ... .............

\/é com forvg;a .ble
20. In the dialogue:[ Teacher : What day was yesterday? Student:

Tuesday.] The teacher uses:
a. easy question b. complex question
c. open question{d) narrow questlon (_)1 J'(,o
" 21. No one suspects us, .. v eraeeens?
a. are they b. don't they@ do they d arent they
i
22, Hara(l} i ﬁi‘% ‘3'! . the receiver than there was a knock at the
doP

had I put down b. I put down c. put I down d. had I downed

23, (ELT} is an abbreviation for :

a. Education Language Teaching. b. Educated Learners & Teachers.
c. .English Learning& Teaching. @English Language Teaching.

24. Words that differ by only one phoneme arecalled..............

a. nominal palrs b. almost pairs e

minimal pairs d. none of the above .

25. Peter has two brothers, but he doesn't speak to . aih Cof
them. g

@ either b. any c. both d. neither et 2.

26. The government ....................... said that the Prim Minister was
sick and tired of the papers dlsappearmg Jrom his office.

a. speaksperson b. speak person

¢. spoken person(@ spokesperson<s ““‘] o L

27 . refers to the ability to breakdown material into its
component parts so that its organizational structure may be
understood dd 22

a. Synthem . Analysis c. Application d. Evaluation
28. A rmfr\dor pnmshment that strengthens or weakens behavior is

called.....

"I‘ - a. stimulus k. response remforcement d. conditioning

/cv

A



29. We had a great time .. ..the awfu:l weatber

a. but for(E)m spite of ¢. except d 1n spite

30. I think it'sin my left o......oo........... N

a. pocket of trousers b. pocket trousers tn Sp. fcof-] + qu .
c. trouser pocket étrousers pocket &

31. The type of the test that identifies the test — taker's strengths
and weaknesses is called a ......... lest. _r_‘z_{/v i
@ dlagostlc b. placement c. proficiency d. summative _ é//"-/“
32. Iamgoingtogooutand .................... LV/
a. have cut my hair b. let my hair cut
éc) have my hair cut d. my hair be cut

-

33. One of the following doesn't contain the sound / 'y o { éj =
a. mouthb) breathe c. tooth d. beneath i,_;

34. I'm looking for ... . 1o cut this string. .

a. a pair of sclssors(lil some Scissors ¢. a scissors d. a scissor e ' >

33. One of the following is itot from the conditicns of motivation. -
a. students are motivated if they live in a secure environment. J\e"f '
b. students are motivated when the sub_]ect matter 1s interesting.

€S students are motivated when they experience more failure and

success. woI

d. students are motivated when they feel the learning for them not

for the teacher. b ooy ) |

36. " .................." is learners use of the firsi patterns of language in

second lang:mge sentences
@ Transfer b. Correlation
c. Attitude d. Language acquisition
37. I didn't like it in the city at first, but now . ceeeeeees.n. ReTE.
a. I got used to living®) I am used to living
c. Iused to live d. I used to living
38. The final " ed" in the verb talked is pronounced as:
a /d/b. fid/ . fed/ D

39. Safety should come first, ................... lives shouldn't be put at
risk.

a. people@ people's c. peoples’ d. peoples

40. It's ........... Junny film, I Igughed all the way through it

a. so b. extremely c. that muchél such a gl

41. The two parties have settled their differences by compromise .

after a long debatggz he underlined word means:
an acceptable middle coarse agreement b. négotiation Slilie §
c. raising awareness d. revising past recorW Ly oo .
= P fkh _{: . 2 %/ L{_‘_,
_So - ad) AL -
) ety V i G

gucls @ *“‘i‘*’*n}’ N Lj-jl _

fuch + ad) +oc-,_



ﬂ: Model Answers:

1)1
2)2
3)2
4)4
5)3
6) 4
72
8)2
9) 1
10) 3
11) 2
12) 4
13) 3
14) 4
15) 1
16) 2
17) 2
18) 3
19) 1
20) 4
2i) 3
22)1
23) 4
24) 3
25) 1
26) 4
27) 2
28) 3
29) 2
30) 4
311
32)3
33)2
34) 2
35) 3
36) 1
37) 2
38) 4
39) 2
40) 4
41)1
With my best wishes.

M
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Section Three : Grammatical Structure

Directions : Questions 17-1-1 are incomplete sentences. Beneath each sentence you

will see four words or phrases, marked (A), (B), (C), and (D). Choose the word or
phrase that best completes the sentence.

o 2o (/‘—LJ'AI
. %4

av_ 1 the book but when I heard what the critics said I changed my mind. ]
) = —_— —_
@ was going to buy e
b) would have bought
@eﬁ was biyitg -

d) am going to buy é(

1£ . She him before Y174,

a) has seen
b) saw
(D bad seen” Qg4 f< {0t

d) seen
O ¥

1> - It was snowing when the refugees

a) have arnved
D arrived ' : Y

¢) had arrived \ wag arvivy \fJLu./g \ Conn Ll:r
d) were ammved L — : —_ —
A — = —_—
11 - Mary is waiting the Queen.
@ to see _
b) fof seeing !
c) fortosee s %_ + %b‘*"% Ve L?
d) at
) atsee v v h {' %b
¥ - She doesn’t want her. o '\/\\()[ / ;L&j ’tb
a) anybody helped
b) that anybody helping e \ ov (L +o
anybody to help =
d) that any body helps . . J,
. o @ e werking here Ymr Ho Yeniy
an)- L v Pre %M Q//Zﬁ/ b — —

i‘:)) w/” Le

@w{/( hove Leer i
il b i hees MKA Vg

C_) hons LQ,QW
GU bod Leext
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4. Intheyear¥%:ohe  working here for =+ years.

a) will have been
b) will be /

c) has been

W ber el

11- You drive carefully. The roads are slippery.
a) would better
- would rather - Ca AV e
@D had better,_—" e
d) had rather

P qu\f] lesh ke See e ofoc o

A S

|++.-He doesn’t smoke.

a) Idon’ttoo.

b) Neither Ido.
¢c) Idon’tneither.
(d)) NeitherdoE

| o/ -‘\U éw‘f‘ Ue/«/(p 4 U-‘éf;'e k@

27 O
1+1. It’s raining. We have 1o return home, ?
dontwe M. . o1
b) wouldn’twe z
¢) didn’twe

d) isn’tit YN
Jy
Y -¥- He knew everything ,th was going on.

hat
b) where

¢) whom .
(d)) that o el (K N
own
1+ T Students have to spend a lot of titne studying . their own.

@ on

b) by

c) for

d) in /
V- t- He is very famous Great Britain.

a) whole ) y
allover g8 &2

c) 1nall

d) all of
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Y -o- They're staying with their parents d the time being.
- -
a) during / Somrrte ()/Q] /\5 AT g N

for |
(© smce%

d) when

el . aIlhcr;fforfsthepanywasﬂr_u_i:_;Ed:_ \ b {
QE'SP%E‘& Ak -'jffcsv i ﬁ)@; JT_,M Sus
b) Nevertheless

c) Although (;4,(9\/‘ ) 22N

d) However

Section Four : Vocabulary

Directions : Items 1-Y-117 include sentences with missing words or phrases. From
the words or phrases below each choose the one that best completes the sentence.

V+¥- Keep your children away from this medicine ! It’s

a) dead o
eadly
c) death
d) dymg -
/\ FAR g
Y+ A- Shakespeare has written many poems. He is a poet.
a) large
b) huge e,
c) tiny o A_
@" great 'y '\) o~
*+A- This new pot is . You can put it on the stove. /_)J’

a) waterproof \ . et
@ heatproof ;JJ-/FJ (o

¢) bulletproof
d) soundproof
o

11+ The patient is now ina condition.

a) series

b) medical

critical — ?7
d) psychological
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Y3 Y. The new Saudi ____ are twenty and two hundreds.

a) curencies

b) money

c) coins -
@ banknotes D =2 5

Y17- T wish you a good result in your exam. When are you it?

a) passing

® taling 5 &
c) leaving
d) doing

Directions : In each sentence below replace the boldface word with the one that
has the nearest meaning to it .

117- The Roman armies were defeated in 17Y A.D.

a) inscribed \ &
b) enlisted (7@
¢) retreated

(& beaten

t 1£- Bad deeds are disgraceful.
@ shameful —
b) beautiful
¢) shy
d) happy

)50
i 1o- Birds expand their wings when they are flying.

a) protect e
@ inflate >
¢) contract
d) shrink Pl
1 11- The population in Saudi Arabia increased from eight millions to fourteen

millions m the past ten years.
a) produced

b) decreased

¢) reduced

@ ascended 7 p
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Section Five : Reading Comprehension

Directions : Read the following text carefully. Then answer the questions on the basis
of what is stated or implied by the text. Choose the word or phrase that best completes

the sentence :

i-  Visitors to America are immediately struck by the tremendous numbers of

automobiles filling the highways and crowding the city streets. The automobile,
which has transformed the American way of life, is the most indispensable
workhorse of the family. During the week, the father drives it to his job in the
city, alone, or in a “car pool” arrangement with several of his fellow workers.
When he leaves it at home, his wife uses it constantly to do errands, to haul
groceries, to dnive children to lessons or appointments, to shops or swimming
pools. On weckends, the family drives out to the country for a picnic lunch or
may take a trip of several hundred miles. On vacations, no comer of the country
1s beyond the family’s reach.

Y- All of Amenca has felt the changes, which came with the automobile and with

the network of highways that have been built to serve it. Farmers, who live far
from their neighbors, are no longer isolated. Tractors of the work of the many

farmlands they cannot afford to hire, Trucks carry their products to market, to

storage elevators or to railroads.

¥~ Traffic jams in cities and along the approaches to cities, especially at morning

and evening rush hours and at the start and end of weekends, are difficult
problems. How to find out enough parking space in the cities, even with
underground parking lots and many-storied “pigeonhole” parking structures in
another. More highways and wider ones are needed as fast as they can be built.

Y 1¥- The main topic of this passage is

a) The network of highways
b) The American highways o) /(—/Q
¢) Trucks and Tractors in America
@. Cars and the American Life
11A- The aatomobile has had on the American society.

a) A little effect

b) hardly any effect
&y an obvious effect

d) no effect whatsoever

~—
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V13- The American father .

a) always drives alone to work.
b) may share his car with other colleagues.
c) drives his children to Iessons.

@ drives his wife to haul groeeriés..

1Y--The American family may spend the weekend

a) abroad.
b) in downtown.
“out of town.
) ina family gathcnng

1¥1- Thanks to the automobile, all American States have become

v] i www.tgeedusa Al OLEESH ¢ 3 s Al ol A il Ayt Addad

(2> withisreach.
b) more isolated.
c) beyond reach.
d) torn apart.

Y YY. Most American families cars.

a) cannot afford

b) do not badly need
do not have

@Y cannet do without

VYT The word * which * in the first line of the second paragraph refersto _— .

a) all Americans
b) automobiles

changes
d) traffic

Section Six : Linguistics and Pedagogy
’ J\/_.._J_,J

’rwt';/, > -
Vil is a feature in human language that allows for the making and interpretation of an iﬂﬁﬂ_@_mbcr

of messages. _t/—-/

a) Arbitrariness

@ Creativity E(l
¢) Interchange

@ Displacement ( e
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YYo. The Contrastive Analys:s Hypothesis is associated with

a) the cognitive theo ;o
@ -,thebel;g:vidristthergry LT e (£
¢) the native theory r
d) none of the above
st e et | Z e, L RV
YYS- va ‘_dx_ty refers to the correlation between test scores and a mxstworthy external eriterion.
(3 empiical /"J i et b
b) content
c) face
d) rational P
AV ‘e

’ -

1YY~ In constructing language tests, items are said to be sgtisfactory if

a) they are at suitable level of difficulty
b) they discriminate among students

) they improve students’ proficiency .
d) A&B

'Y A-Tr:msformational grammar .
a) ignores the relationship between sentences with the same meaning
b) generates only the grammatical sentences of a langnage
¢) tries to modify the learner’s hngulstlc behavmr g, )
d) is none of the above . - -

1¥4. suﬁixes do not usually changc the grammatncal class of the words m wb.lch thcy are attached.
@' Inflectio : N
b) Denvatlonal 'b o S <

¢) Morphological
d) Functional

1T+- A native speaker can in most cases

a) give an account of the rules of his language.
D) list all the possxble sentences of his Ianguage
Y A&B |

d) None of the above.
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Y71 The Critical Period Hypothesis presents strong evidence for the theory of language acquisition.

(3) - cognitive
b) behaviorist
¢} nativist

d) situational

YT¥- In the production of the passage of the air stream is relatively unobstructed.

@ vowels
c) sibilant
d) fricatives

YYT- In the grammar translation method,

(3} elaboraie explanations of the intricacies of grammar are given
b) grammar is taught inductively
c¢) there is little explanations
d) grampar is postponed to a later stage

17~ Within the cognitive approach, language acquisition is seen as

a) rule formation
b) habit formation
¢y skill formation
d) function formation
S e LYt
YT2- The eclectic method of foreign language teaching necessitates that the teachers
¢@ ‘apply the easiest from the various methods
b) choose the best from the various methods
¢) apply one method in each class period
d) apply at lest two methods in each class period

—

PN e

Y¥2 The best course design is the one that .

a) promotes a positive social climate in the classroom
-2’ b) enhances student motivation ~<* ' 2
c) makes teaching enjoyable for the teacher
@ all of the above. 'Ci:(b
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D & e
YTV, is such a natural and normal human activity that fcw aspects of it really need much overt
instruction. AL N L )
: a) Listening
b) Speaking
¢) Reading
@) B&C .
d \ (/f, \"' 6\) ® B ) _/_9
;'3 YTA. For students learning to read in a pew language some previous _ ability is necessary.
a) written language

] b) s1mplc Ianguage |

d) real language ‘

,\5‘,) o G s
VT4, Teaching productive skills means teaching

o —r—

a) speaking and listening )
£ b) listening and reading
UH speakmg and reading 7
teada lspe I g -'.";' "-.‘A:"‘-'Q‘;.
b /»g\ ,27 ¢ “ Cpre g
i ' %+~ The technique of is an achivity where a student needs mfomnauon from othcrs to complete a
particular task. = / 2, )

== -~
B 3 '-;ﬁllmgmablank ~~ Ny Do
b) information gap
g:- c) critical reading
' d) matching - _
, )V G2 Son D L
“ MThe prlma_ry ob}ecnve in teaching spmkmg is the developmentof ~ ability.
a) oral communication
{® phonological -
¢) pronunciation
d) good English

(,,/-’.Jk-’) Z‘“"/

- " £¥- Grammar teaching is the explicit teaching of language
a) forms
b) words N

@ function H::J.a
d) meaning
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Y £T. Reading in a second language normally requires processes similar to reading in a language.
_ @p first
b) second
- c) third
2 d) foreign — 20
N 7 AAVA /
f’* ‘T{-E’h%?\rcp{aﬁng a test for intensive reading we should note that __ texis should used.
a) short, simple
i b) shert, com lex 4
o lafa“g-, s o}‘ﬂﬂ/ﬂj q}’ﬂ GERVAT L
d) long, complex — / '
-~
yfo- Process onented writing instruction placw more emphnsns on the in

' b) knowledge that writers emp]oy
c) experience that writers have
d) tiume that writers spend

'I é_f\ﬂ,:)-\ ujbﬂ//

Y £3- Good prommciation requires the ability to correctly produce and use

i > i
w7 P S T Lk Sl i

. @P Sotinds, sress, and intonation.
b) Sounds, stress, and meanings.
¢) Sound, words, and meanings.
d) Sound, WOI‘dS and production.

b e . - ,
( L O V‘-U ! Ve A‘()‘ T opd 2
YE¥. A crossword puzzle helps students develop knowledge.
—_._-_._.-———-
a) reading

b) ortho graphy

€] lexmal j/‘a/o
d) writing

s - :\\‘—’ /U _/\(
1 £A- Teaching words in isolation is not recommended because
- @ ‘some words have different meanings -
b) context helps to clarify the meanings of the word

c) the function of the word in a sentence helps to determine its meaning
d) all the above
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¥ £4- Techniques for guessing meanings of the words from context include -

y*j \ a) activating background knowledge.
-Obtaining chues from structure and surrounding words.
c) Understandmg nunciation and punctuation.

d) All the above. O

*- Using technology in teaching helps teachers

a) present demonstrations ~~ “\ oL (‘% )

b) enhance course content o, . e

c) prowde additional 111ustrat10ns A S
@aﬂtheahovwe” i sy iyl AP

e ‘.Pb
¥21. Using mu]nmedxa software belps students to increase their learning ability.

a) disabled C»-_;-; (TR N ~y

(E vy o

24 wrm (xR ) !

aihheabcrm—«:- i '_L

n -~

P4 /’g 1L
|o¥-Road maps are genera]]y used in the teaching of

a) graJr\ﬁ)matlcal structures W
b) reading comprehensmn 15,05

c) hstemng practlce C
@ A&B -
27 o _
VeT- In effective langnage teaching, computers are best used as
a) substitutes for tedchers”
aids to teachers . (\3 (_,g A
¢) means of entertainment
d) substitutes for textbooks

/:-—QS{" > LbA e |
yof- In preparing matenal for language lab Eractlce, it is best to

‘ read from the textbook directly

= - e

¢) dictate to the recordmg person
d) memorize the material first

OMNi an
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Vo3 A good language teacher uses magazinc pictures 10

L@,

teach language skills and elements f_,, L
b) decorate the classroom
: ¢) make teaching more enjoyable
K d) te%:h good pronunciation.
oM

E Yoi. ards are more commonly used to teach
i; Flash card y

a) lis_tening o i

C) wntmg exercises
d) reading aloud
o 20
Y°o¥- We can use both flannel boards and magnetic boards to display pictures and cards. However,
. B e —— e —— _—
£l a) flannel boards are more effective
b) magnetic boards are easier to use

B 5 they are smnlar

Y °'\-éomposﬂe pictures may be effectively used in the teaching of
.

ey

a) speakmg and Wntlng ) i

; By readi - (_,BR,LJ\ :fg" o
) c) grammatlcal structures mamly
- d) young learners only

M
~ i
1

ety
r
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7-Yon drive carefully. The roads are slipper_y.

a) would better SR N
b) would rather 6321 g )
©had better @y

d) had rather

8- He doesn’t smoke.
a) I don’t too.
b) Neither I do. ;- .
c) I don’t neither. W e UU"’ T vens + Swi
@ Neither do 1. A% ___
9- it’s raining. We have to return home, ?
(@ don't we - ) -
b) wouldn’t we Foo I 5
c) didn’t we
d) isn’t 1t
10- He knew everything was going on.
a) what
b) where
S Hmaa AN ot I n
i1- Students have to snpend a lot of time studying SN their own.
@ on
b) by
c) for
d) in
12- Ke is very famous Great Britain.
a) whole
@ allover o
¢) in all '
d) all of
13- They’re staying with their parents the time being.
a) during - I &
Cbpfor e L’“@ e
c) since
d) when
@ljl- all her efforts the party was ruined.
In spite of —____ “
b) Nevertheless (o /‘F' e l/
c) Although
d) However

Lo S\

e

AY




Proficiency Test for English Language Teachers (A)

Section Four : Vocabulary
Directions : Items 15-24 include sentences with missing words or phrases.
From the
words or phrases below each choose the one that best completes the sentence.
15- Keep your children awzy from this medicine ! It’s
a) dead
D) deadly
c) death
d) dying |
16- Shakespeare has written many poems. He is a poet.
a) large
b) huge
c) tiny
(P great
17- This new pot is . You can put it on the stove.
a) waterproof”
@) heatproof
¢) bulletproof
d) soundproof
18- The patient is now in a condition.
a) series
b) medical
@) crtical
d) psychological
19- The rew Saudi are twenty and two harndreds.
a) currencies
b) money
) coms
banknotes
20- I wish you a good result in your exam. When are you it?
a) passing

(Btaking

Directions : In each sentence below replace the boldface word with the one

that has the nearest meaning to it .
Proficiency Test for English Langnage Teachers (A)

21- The Roman armies were defeated in 622 A.D.
a) mscribed
b) enlisted

c) retreated
’@ beaten
i

At



@ shameful

22- Bad deeds are disgraceful.

b) beautiful

c) shy

d) happy

23- Birds expand their wings when they are flying.
a) protect

24- The population in Sandi Arabia increased from eight millions to fourteen
millions in the past ten years.
a) produced
b) decreased
¢) reduced
ascended
Section Five : Reading Comprehension
Directions : Read the following text carefully. Then answer the questions on
the
basis of what is stated or implied by the text. Choose the word or phrase that
best

completes the sentence :
1- Visitors to America are immediately struck by the tremendous numbers of

automobiles filling the highways and crowding the city streets. The automobile,
which has transformed the American way of life, is the most indispensable
workhorse of the family. During the week, the father drives it to his job in the
city, alone, or in a “car pool” arrangement with several of his fellow workers.
When he leaves it at home, his wife uses it constantly to do errands, to haul
groceries, to drive children to lessons or appointments, to shops or swimming
pools. On weekends, the family drives out to the country for a picnic lunch or
may take a trip of several hundred miles. On vacations, no corner of the country
is beyond the family’s reach.

2- All of America has felt the changes, which came with the automobile and
with

the network of highways that have been built to serve it. F armers, who live far
from their neighbors, are no longer isolated. Tractors of the work of the many

Ao
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farmlands they cannot afford to hire, Trucks carry their products to market, to
storage elevators or to railroads.
3- Traffic jams in cities and along the approaches to cities, especially at
morning
and evening rush hours and at the start and end of weekends, are difficult
problems. How to find out enough parking space in the cities, even with
underground parking lots and many-storied “pigeonhole” parking structures is
another. More highways and wider ones are needed as fast as they can be built.
25- The main topic of this passage is
a) The network of highways
b) The American highways
¢) Trucks and Tractors in America
@Cars and the American Life
26- The automobile has had on the American society.
a) A little effect
b) hardly any effect
obvious effect
d) no effect whatsoever
27- The Americaa father
a) always drives alone to work.
b) may share his car with other colleagues.
c) drives his children to lessons.
@ drives his wife to haul grocenies. ("
28- The American family may spend the weekend
a) abroad.
b) in downtown.
£ out of town.
d) in a family gathering.
29- Thanks to the automobile, all American States have become

]

@ within reach.
b) more isolated.
c¢) beyond reach.
d) torn apart.
30- Most American families cars.
a) cannot afford
b) do not badly need
c) do not have

@) cannot do without
Proficiency Test for English Language Teachers (A)
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a) all Americans
b) automobiles
(©) changes
d) traffic
Section Six : Linguistics and Pedagogy
32- is a feature in human language that allows for the making
and
interpretation of an infinite number of messages.
a) Arbitrariness
b) Creativity
c) Interchange
¢ Displacement
33- The Contrastive Analysis Hypothesis is associated with
a) the cognitive theory
b) the behaviorist theory
c) the native theory
d) none of the above
34- validity refers to the correlation between test scores and a
trustworthy external criterion.
a) empirical
b) content
c¢) face
d) rational
35- Ia constructing language iesis, items are said to be satisfactory if

a) they are at suitable level of difficulty

b) they discriminate among students

¢) they improve students’ proficiency

dA&B

36-Transformational grammar .

a) ignores the relationship between sentences with the same meaning
b) generates only the grammatical sentences of a langnage

c) tries to modify the learner’s linguistic behavior

d) is none of the above

37- suffixes do not usually change the grammatical class of the
words to which they are attached.

a) Inflectional

b) Derivational

c) Morphological

d) Functional

AY
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38- A native speaker can in most cases

a) give an account of the rules of his language.

b) list all the possible sentences of his language.

c)A&B

d) None of the above.

39- The Critical Period Hypothesis presents strong evidence for the
theory of language acquisition.

a) cognitive

b) behaviorist

c) nativist

d) situational

40- In the production of
relatively
uaobstructed.

a) vowels

b) nasals

c) sibilant

d) fricatives

41- In the grammar transiation method, .

a) elaborate explanations of the intricacies of grammar are given

b) grammar is taught inductively

c) there 1s little explanations

d) grammar is postponed to a later stage

42- Within the cognritive approach, language acquisition is seen as

ihe passage of the air stream is

a) rule formation

b) habit formation

c) skill formation

d) function formation

43- The eclectic method of foreign language teaching necessitates that the

teachers .

a) apply the easiest from the various methods

b) choose the best from the various methods

c¢) apply one method in each class period

d) apply at lest two methods in each class period
Proficiency Test for English Langunage Teachers (A)

44- The best course design is the one that

a) promotes a positive social climate in the classroom
b) enhances student motivation

c¢) makes teaching enjoyable for the teacher

d) all of the above.

AA
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45- is such a natural and normal human activity that few
aspects

of it really need much overt instruction.

a) Listening

b) Speaking

c¢) Reading

dB&C

46- For students learning to read in a new language, some previous
ability is necessary.

a) written language

b) simple language

c) oral language

d) real language

47- Teaching productive skills means teaching .

a) speaking and listening

b) listening and reading

c) speaking and reading

d) writing and speaking

48- The technique of is an activity where a student needs
information from others to complete a particular task.

a) filling in a blank

b) information gap

c) critical reading

d) matching

49- The primary objective in teaching speaking is the development of

ability.

a) oral communication

b) phonological

) pronunciation

d) good English

50- Grammar teaching is the explicit teaching of language
a) forms

b) words

c¢) function

d) meaning

Proficiency Test for English Langunage Teachers (A)

51- Reading in a second language normally requires processes similar to
reading in a language.

a) first

b) second

¢) thard

d) foreign

Ad
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52- In preparing a test for intensive reading we should note that

texts should be used.

a) short, simple

b) short, complex
@ long, detailed

d) long, complex

53- Process oriented writing instruction places more emphasis on the
in producing a piece of writing.
(3 stages that writers go through

b) knowledge that writers employ

¢) expertence that writers have

d) time that writers spend

34- Good pronunciation requires the ability to correctly produce and use

@ Sounds, stress, and intonation.

b) Sounds, stress, and meanings.
c¢) Sound, words, and meanings.
d) Sound, words and production.
55- A crossword puzzle helps students develop _ knowledge.
a) reading
b) orthography
@) lexical
d) writing
56- Teaching words in isolation is not recommended because .
a) some words have different meanings
b) context helps to clarify the meanings of the word
¢) thie function of the word in a sentence helps to determine its meaning
@ all the above
57- Techniques for guessing meanings of the words from context include :
a) activating background knowledge.
b) Obtaining clues from structure and surrounding words.
¢) Understanding pronunciation and punctuation.

@ All the above.
Proficiency Test for English Language Teachers (A)

58- Using technology in teaching helps teachers
a) present demonstrations
b) enhance course content
c) provide additional illustrations
@ all the above



59- Using multimedia software helps students to increase
their

learning ability.

a) disabled

b) shy

B c) weak

i (@ all the above

K 60- Road maps are generally used in the teaching of 2

E a) grammatical structures
) b) reading comprehension
* c) listening practice

; (DA&B

61- In effective langnage teaching, computers are best used as

a) substitutes for teachers

3 ) aids to teachers
ﬁ ] ¢) means of entertainment
- d) substitutes for textbooks
N 62- In preparing material for language lab practice, it is best to

a) read from the textbook directly
: D) use transcripts for the purpose
i '- c) dictate to the recording person
d) memorize the material first
=% 63- A good iangnage teacher uses magazine pictures to
i € teach language skills and elements
b) decorate the classroom
- c) make teaching more enjoyable
8 d) teach good pronunciation.
' j 64- Flash cards are more commonly used to teach
a) listening
€Db) vocabulary items
¢) writing exercises
d) reading aloud
Proficiency Test for English Language Teachers (A)

[

2T gl) N
L 1

] 65- We can use both flannel boards and magnetic boards to display
. picteres
and cards. However,
a) flannel boards are more effective
b) magpetic boards are easier to use
_ c) they are similar
" & chalkboards are better than both
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H 66-Composite pictures may be effectively used in the teaching of

a) speaking and writing

(B) reading comprehension only
c) grammatical structures mainly
d) young learners only

Part 1: Grammar For questions 1-45 read the sentences and then
choose from the list a-d the best word or phrase . to fill the blank
.The Iift is out of so we'll have to walk -!
a) function
(D) order
C) running
d) work
What do you to do about the problem now -%
#that the solution has failed
a) attempt
b) think

&) intend
d) pretend

We have for a new secretary but we haven't -
.had any replies yet
a) advised
¢B» advertised
¢) announced
d) noticed
I've for the job; I hope I get it -
a) appointed
b) presented
@) applied
d) succeeded
.He's so mean he wouldn't give a beggar a of bread - _
a) skin |
b) peel
c) shell

@) crust

Y



I never expected you to tumn at the meeting, [ -

.thought you were in France

a) around

He me by two games to one-

a) won
b) beat
¢) gained
d)conquered
.His office is on the third
a) ground
D floor
c) level
d) flat

of the building-

I'm I didn't pass the exam but I'll do better next - _

.time

a) deceived

b) despaired
disappointed

d) disillusioned

The lecture was so

that everyone feli -!"

.asleep

a) bored
@@ boring

c) tired

d) tiring

.When she

a) ages
b) grows
C) increases

(@ grows up

she wants to be a doctor -!!

ay




Please choose one option for each question then click 'Test Result' to obtain your on-line
‘ result and level ‘
1.
A . Always he arrives at 2:30
B . He arrives at always 2:30
@. He always arrives at 2:30
I} . He always at 2:30 arrives
2.
A . What’s like Paris?
B . How’s Paris? |
&> What’s Paris like?
D . How Paris is? ‘
3. I have Flamenco classes ......
. on Saturday afternoons ‘

e

e
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B . in Saturday afternoons
: C. at Saturday afternoons
| D . by Saturday afternoons ‘

i B 4. 1 wanted an orange car, but they only had .....
] A.aonered
B. one red

a red one.
D.ared.
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1- You have asked one of your students to draw a picture on the board
in front of the class.

‘Which of the following describes his actions as he draws?

(a) He will draw a picture.

(b) He drew a picture.

(¢) He had drawn a picture.

QP He is drawing a picture.

[ 2009709]

2- Which of the following sentences is grammaticaily corract?
I bought two books by the bookstore.

(b) I bought two books at the bookstore.

(c) I bought two books of the bookstore.

(d) I bought two books on the bookstore.

[ 2010308]

3- Choose the correctly punctuated sentence:

The train with its metal wheels nuns very fast.
(b) The train, with its metal wheels runs very fast.
(c) The train with its metal wheels, runs very fast.
(d) The train, with its metal wheels, runs very fast.
[ 2009725]

( ) _ . 2
4- Choose the correctly punctuated sentence:

(a) Nermine said, “Come in”.
(b) Nermine said “Come in.”
¢) Nermine said “Come in”,
Nermane said, “Come in.”
[ 2009741]

5- Which of the following is the correct si;elling of the follo_wing object?.

@ bicycle

(b) bycicle
(c) beycile
(d) bicycel
[ 2009746

6- Which of the following is the correct spelling of the following
object?

(a) pneicl

(b) penicl

X9 pencil

(d) pncile



[ 2009744]
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7- Read the following text then choose the correct answer for the
question below:

Mostafa goes to the club that is next to his home. He enjoys playing
football and basketball with his friends. He also swims in the swimming
pool.
What does Mostafa like?
(a) Mostafa likes computer games.
(b) Mostafa likes to go home.

¢) Mostafa likes diving in the sea.

Mostafa likes playing sports.

[ 2009776]

8- Read the following text then choose the correct answer for the question
below:

Samia hates staying at home in summer. She often goes out with her friends
to watch Arabic films.

Wkere does Samia go?

(a) To the theatre

To the garden
%’TO the cinema
(d) To the club
[ 2009770]

( ) .. 4

9- The underlined word—“!ong”gthe Eollowing text means.........
Look at this cute little boy. He has lovely long brown hair. I thought he
was a girl from behind.

(a) Straight

Spiky
Extended

(d) Wavy '
[ 2009805]

10- The underlined word argument in the following text means......
Salwa and Eman are having an argument over which television
channel to watch at home. It would be much simpler if they both liked
the same kind of programs.
(a) An agreement
(b) An appointment
(c) An arrangement

«D A disagreement
[ 2010329]




11- Read the following text then choose the correct answer:

It 1s difficult for students to understand things they have not seen or
heard. So, books should have good pictures and drawings to reflect the
world in which they live.

The main idea of the text is ................

(a) The world chiidren live in

(b) Young learners’ hobbies

£ Drawing and pictures in books

(d) Characteristics of children’s books

[2009818]

12- Read the followirg text then choose the correct answer:
In the moming I like to eat eggs and beans. I also like fresh bread. I
always drink tea with milk after I finish eating,
The main idea of the text is ................
@ My breakfast
(b) My lunch
(c) My dinner
(d) My supper
[2009832]

( ) . o _ 6
13- You wani io make a play for your students to present at the end of

scizool year celebiration. You need to know how te build up its

characters.
Which of the following key words can you use to surf the Internet to

find solution to this probiem?
(a) Modern theatre
(b) Marionettes theatre
(c) Characters costumes
{02 Characters development
[ 2009845]

14- Which of the following would you say if you want one of your
students to give out the colouring sheets?
(a) Hazem, give one sheet to each child.
(b) Hazem, find out how many sheets there are.
(c) Hazem, give these colouring sheets to the girls.
Hazem, put the colouring sheets in the box.
[ 2009871]

1y
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15- Which of the following would Nada say if she is hungry and wants to
eat?

(a) Can I eat now?
@ Must | eat now?

(c) Should I eat now?

(d) Do 1 eat now?

[ 2009896]

C ) - o 7
16- Which of the foliowizg would you say if you want to give a piece of
advice t2 one of your students who doesn’t fezl well?

(a) You are sick.

(b) It’s your fault.

(c) You should work very hard.

{@ You should go to the doctor.

[ 2010346]

obtatyl

(750 [ UG JE5 I 265 250 UG UG 350 o Y SN 6 N8 4

A




1- Which of the following is NOT a complex sentence?

(a) My wife and | went to Alexandria for a week, and my parents
spent their summer holiday in Ras el-Bar.

(b) After we argued for almost an hour, we all decided to stay
home to watch a movie on TV. |

(c) As they were confused with the new courses, the students did
badly on their first monthly exams.

(d) Young people, who live away from their families, are not
highly regarded in oriental societies.

2- Which of the following is NOT a pair of synonyms (similar in
meaning)?

(a) abstract — summary (b) powerful - strong

(c) power — authority {dpabstract - concrete

3- Which of the following prefixes gives the opposite of the
underlined word in the following sentence?
He 2cted so strangely that she looked at him in —belief.
(a) un- (b) in-

A0 dis- (d) non-

4- What is the language function us2d by Mrs. Xarimez in the
following conversation?

Mr. Ahmed: Hi, Mrs. Karima. How do you like your
apartment?

Mrs. Karima: Well, Mr. Hegzzy. I can hardly sleep from the
noise coming from next door.

(a) Apologizing EPComplaining

(c) Disagreeing (d) Inviting

5- What is the langnage function used by B in the following
conversation?

A: Would you like a piece of my special home-made cake?
B: It sounds tempting, but if I even smell cake, I gain weight.
(a) Accepting an offer (b) Giving an opinion

(c) Agreeing (@) Refusing an offer

6- Which one of the following sentences is correct?

) The show begins at 7:30; make sure you're there before 7:15.
(b) The show begins at 7:30 you'd better make sure you're there before
7:15.
(c) The show begins at 7:30 however, make sure you're there before 7:15.
(d) The show begins at 7:30 make sure you're there before 7:15.

4



7- Read the following and choose the LEAST polite response to
this question:

Are you up to helping me with this science assignment this
weekend?

(a) Well, | am not sure. | am kind of busy this weekend.

(b) I'm afraid | can't. | already promised my mother to go out with
her this weekend.

(c) | don't think I'll be able to help. I've other things to do.
{8 | can't. Don't you see how busy | am these days?

8- H1ow should tihe teachker best handle the student's error in the
Toliowing sitnation?

Teacher: Ali, where did you go during the mid-year vacation?

Ali: I went to see my grandparents in the countryside, I

enjoyed with my stay there.

(a) Teacher asks other students to correct the mistake.

(b) Teacher writes the mistake on the board.

(c) Teacher stops the student and corrects the mistake on the spot.
&) Teacher repeats the mistake and allows the student to correct
himself.

9- Which of the following suffixes changes the word "act" into an
adverb ?

{8 ively- (b) -ion

(c) —ing (d) -ive

10- Which of the following factors does NOT cause difficnlty for
students to understand listening passages?

(a) Authentic speech tempo (EpLetter-sound correspondence
(c) Contractions and reductions (d) Critical thinking skills

Answers:

1- a 2-d 3-c 4-b 5-d 6-a 7-d 8-d 9-a 10-b
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[-General information on language acquisition and leaming, including factors
affecting them:

1 -Familiarity with basic theories of first language acquisition:
- Behavioristic
- Cognitive-Code learning

2- Knowledge about main factors that affect 2nd language learning:

- Amount of exposure
- Motivation

- Attitude

- Aptitude

II- General information on different language teaching methods:
1- Grammar Translation Method

2- Audio-lingual Method
3- Communicative Approach
A-Community language learning

5-Eclectic method

lll- Contrastive and Error Analyses:
1-Transfer of first language

2-Error identification and classification

3-Remedial procedures

IV-Information on main type English language tests.

- Proficincy

- Acheivement
- Aptitude

- Diagnostic

e T e e e e e — e



1.2- Practical Backgreund:

I- Techniques of teaching:

(A) Language Elements:
-Pronunciation

[ discrimination exercises, minimal pairs, production....]
[types of exercises: mechanical , meaningful communicative]

-Grammar & Structure:

(Types of exercises; mechanical, meaningful, communicative )

-Vocabulary:

[ recognition and production :synonyms, antonyms, use of words in

sentences, guessing meaning from context....]

(B) Skills
- Listening:
[listening comprehension: sentences, dialogues, extended texts]
- Speaking:
[ teaching dialogues, activities that promote speaking: pair work,
team work, games ........
- Reading:
[ loud reading, intensive and extensive reading , reading strategies: scanning,
skimming ......]
- Writing:

[ copying , controlled, guided and free composition; mechanics
and paragraph writing |
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(C) General knewledge about learning-teaching strategies
II-Techniques of testing:

-Techniques of testing students performance on English language
elements and skills(sound system, grammatical structures,
vocabulary, listening, speaking, reading and writing).

HI- Use of educational aids in language teaching:

» Visual aids: pictures, maps, graphs.. etc -
> Audio aids: radio, tape recorder, language labs...etc.
» Video recording and computers

2. Linguistic Competency
2.1. Competencies in Language Skills and Functions

2.1.1. Listening Comprehension:

Ability to:
(1) understand face-to-face communication.

(2) follow speech and conversations about most survival needs and
limited social conventions.

(3) follow an extended stretch of speech on general topics.
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Level of performance:

Vocabulary permits understanding of topics beyond basic survival needs
such as personal history and leisure-time activities. Evidence of
understanding all basic grammatical structures.

2.1.2. Speaking:

Ability to:
(1) satisfy most survival needs and social demands.

(2) initiate a conversation, and handle with confidence most social
situations, including introductions and casual conversations about
current events.

(3) give a short presentation on a general topic.

(4) reasonably describe and give precise information.

Level of performance:

» Articulation is comprehensible.

> Has sufficient working vocabulary to permit discussion of topics
beyond basic survival needs.

» Has sufficient control of basic grammatical patterns.
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2.1.3. Reading:

(1) Sufficient comprehension abilty to understand a passage for personal
communication, information or recreational purposes.

(2) Has ability to read with understanding social notes, letters and invitations.

{3) Has ability to skim and scan texts to locate and derive main ideas of
passages on familiar topics.

(4) Is able to read aloud in a proper manner with correct pronunciation of
English sounds, observing prosodic features such as stress and intonation.

(5) Shows spontaneity in reading by ability to guess meaning from contexts.

Level of performance:

> Has a reasonable stock of passive vocabulary required to
understand a text on a common topic.

» Has the knowledge of all grammatical structures needed for
understanding any text of a general nature.

» Has a reasonable knowledge of common cohesive devices and their

functions and meanings.

2.1.4. Writing:

(1) Has sufficient control of writing system to meet most survival needs and

social demands.
(2) Has ability to write simple social correspondence.
(3} Has ability to take notes on familiar topics.

{4) Has ability to write cohesive summaries, and resumes, short narratives and
descriptions on familiar topics.

Level of performance:




» -Has sufficient writing vocabulary to allow a person to express
himself in different life situations.

# -Shows good control of basic grammatical constructions.

2.1.5. Translation:

(1) Has ability to translate a short and simpie passage on a familiar topic
from English into idiomatic Arabic and from Arabic into English.

(2) Shows ability to translate short oral communications between English
and Arabic.
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2.2. Language Components

2.2.1.Competency in Pronunciation:

Ability to recognize and produce the following:

intonation
Statements Falling
Reguests
Wh-Questions
Yes/No questions Rising
Confirmation Question
Repetition Question
Challenge
Protest
Long utterances sustained + Falling/ Rising
Question Tag
Stress

Placement of primary stress ( especially in bisyllabic words)

Phrasal stress ( normal x for emphasis)

Rhythm
Stress timed x syllable timed (English vs. Arabic)

VYowels
i: seat, see

YA




I x e sit xset

e: late

e let

2 x o cat x father
2  above

N cut, mother

A father

u: pool, fool

u pull, full

Pxu pot x put
o x boat, coal, sow

3% bought, call, saw

ay high, light
au now, house

Dy  boy, foil

Consonants

px b pin x bin

b

g

& x§ chair x share

jxZ large x mirage



O x s bath x bass (for speakers of some Arabic dialects)

0xz thoughxzoo{ = =

S

§ fish

Z measure , vision
h

m

n

n x ng long

Ix] (clear x dark I} low x law

r { retroflex in American English)

yandw yet, win

N.B. X means “in contrast with”

Consonant clusters

Initial consonant clusters:

especially s+consonant (+consonant) as in street, star, special

Morphophonemics

Realization of the {2} and {D}morphemes

1- {Z} plural, Possessive, 3rd Person.

-s: /s/,/z/./ iz/ ( books, figs, matches)

2- {D} past and past participle
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Verbs

1- Main verbs ( see vocabulary list)

2- Copula: BE
Semi-copulas:
BECOME (i may become a doctor)
GET{ He’s geiting old)
FALL{ He's fallen ill)
FEEL ( | don't fee! auite well}
REMAI!N { Will it remain dry today)

STAY ( It won't stay dry for long)

3- Auxdiliaries and semi-auxiliaries:
tense/aspect:
HAVE: perfect and pluperfect
BE: present continuous and past continuous
BE GOING TO: future

WILL future
Voice: BE
periphrasis : Do

modality : CAN: ability, capability, possibility, permission

COULD: see CAN; also: suggestion
BE ABLE TO: ability, capability

BE GOING TO: intention ; future
MAY: uncertainty ; permission

MIGHT: see MAY



-ed: /t/, /d/, /!d/{looked, rubbed, seated)



Allophonic Variants

(Discrimination for comprehension)

I. Intervocalic t and d : matter, ladder {in American English)
Il.  Assimilation of t to (n) and (r) : center, twenty, thirty, forty (in
American English)

Competency in Grammatical Structures

Ability to distinguish and use the following:

Seritence types
Tyves

1- Declarative seniences ( affirmative and negative)

2- Interrogative sentences ( affirmative and negative)
2.1 Yes/no questions

2.2 Question-word sentences

3-Imperative sentences ( affirmative and negative)

3.1 Commands
3.2 Polite requests

4-Exclamatory sentences

Short sentences

1-Short answers (type: {Yes,) | am; (No,) | cannot)
2-Short questions (type: Are you? Can’t you)

3-Question-tags ( type: You aren’t afraid, are you?)

Sentence Tvpes:

1--Simple sentences, up to those containing two complements

WY
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2- Compound sentences: Co-ordination with and, but, or

3-Complex sentences: Sentences containing object-clauses, Subject-

clauses {type: It is a pity that you cannot )}, adverbial clauses of time,
condition, cause/ reason, relative clauses

place,



BE ALLOWED TO: permission

BE SUPPOSED TO: permission

MUST: logical conclusion ; obligation
HAVE TO: obligation

NEED (+ not)absence of obligation
OUGHT TO: advisability; right/wrong
SHALL:(in questions): offer, suggestion

SHOULD: right/wrong; disapproval

Forms
1- Finite forms

2- Infinitive:

2-1 plain infinitive ( V ;,): with auxiliaries; with let’s, let me, Pd rather

infinitive with ( V ,,): with semi- auxiliaries ( have to, ought to, be going
to, etc); with main verbs ( hate, like, try, want); with predicative
adjectives {how nice, be sorry, be glad, be delighted)

Imperatives

Past participle ( V .4): in perfect and pluperfect; in passive; after causative HAVE

Present participle/gerund ( V*;,.g): in continuous tenses; after come, enjoy, go,
hate, like, remember; after prepositions

Voice:

AR R-]



1-Active

2-Passive

‘N Aspect :
1-Simple
2-Perfect

3-Continuous

Tenses:
1-Present

2-Past ( including * modal past’ of auxiliaries : COULD, MIGHT, OUGHT TO,
SHOULD, WQULD }

3-Future { with will, be going to, and continuous tenses of verbs of motion)

Nouns

Mumber:
1-Singular

2-Plura!l

Function:
1-Nouns as head of NP

2-Attributive nouns, especially material nouns

1 Adjectives

Function:
1-Attributive

2-Predictive
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. Form:

1 1-Positive degree

-1 2-Comparative degree ( -er, more ); irregular forms of those ‘irregular’
! - adjectives, such as better.

i Superlative degree ( -est, most ); irregular forms of those ‘irregular’
ajectives such as best. ;

‘& Comparison:

1-Equality as ............as

2-Inequality: not so... as; comparative + than; superiative

1- derivation with —ly

i . 2- Non-derived adverbs, eg soon, fast: see the vocabulary list.
.1\
1 Comparison:

i

See under Adjectives f
_
X
|
" Articles
i Definite article: the
i
Indefinite article: a (n)
- Absence of definite article in cases such as to go to school, in summer, to have

dinner
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{- Pronouns( including pronominal adjectives)
J ! 1- personal: subject forms and object forms
i 2- possessive

2.1 adjectives: my, your, their, etc

2.2 pronouns: mine, yours, theirs, etc; used as complement, used as
subject

3- demonstrative
3.1 adjectives: this, that, these, those, such
3.2 pronouns: this, that, these, those

4- interrogative

4.1 adjectives: whose, what, which

4.2 pronouns: who, whom, whose, what, which

YA




5- relative: who, whose, whom, which, that

6- definite: someone, somebody, no-one, not ... anyone, nobody, everybody,
something, nothing, everything, all (as in: They all went home; and in: | want all

of it ) some (as in Some of them went home ), any ( as in Have you got any

money? | haven’t any money ), it { as in: It is raining )

] _ 3 7- emphatic: myself, yourself, etc. (example: I’'ve done it myself)

8- prop-word: one ( example : | like the red one better)

Numerzals
1- Cardinal: up to four digits, up to nine digits

2- Ordinal : up to two digits{first to 99th)

Also : half, quarter

‘Word order

Basic pattern:

Subject-predicate coriplement(s)
Derived patterns:

Yes/no guestion pattern

Wh-question pattern

Negative sentence pattern with not

Passive voice pattern

Imperative pattern

Indirect object replacement by to-adjunct
Position of adverbials : initial position, final position, after auxiliaries

Word formation

Adverb-derivation with —ly

Compounds and derivatives
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d. All false

. In 1900, a book called “Semantics: studies in the science of
meaning” was published. The term Semantics was treated in
this book:

a. The way people at that time understood semantics.

b. The way we use it today.

c. The wrong way which had to be abandoned.

d Aand C

. The way we use the term "Semantics” today is when it refers
to:

a. The “science” of meaning.

b. The changes of meaning from a historical point of view.

c. Both true
d. All false

. When the word “semantics” is used i refer to the
manipulation <=5 of language, this happens in:

a. Formal language
b. Aggressive language

c. Popular lanquage

d. Political language

. Manipulation of language mostly occurs in:

a. Newspapers

b. History books

c. Encyclopedias

d. All false

. The reason behind manipulation iIs to:

a. Make things more appealing to public.
A



b. Mislead the pubilic

c. Inform the public.

d. All frue

10. To understand what meaning is, one has to keep in mind
whether we are talking about what speakers mean or:

a. What the listener might undersiand.

b. What words (or sentences)mean.

c. What the speaker wants to say.
d Aand C

11. In utterance WMeaning ({Speaker Meaning), a word
meaning includes the secondary aspects of meaning,
especially those_related to:

a. Context.
b. Weather
c. Emotions
d. All false

12. There is a distinction between whai would seem to be
the usual meaning of a word or a sentence, and the meaning it
has in certain specific circumstances or contexts. This is, in
fact, the difference between:

a. Semantics and Systematic

b. Semantics and Pragmatics.

c. Semantics and syntactics.
d. All false

13. The study of meaning that a sentence has in 2 particular
context in which itis uttered. This definition refers to:

a. Syntactic

b. Pragmatic



l ¢. Semantic
| d. BandC

14. When the word "mean” is used in the sense of “be
equivalent to”, we are looking at the meaning from the:

a. Pragmatic point
b. Semantic point
c. Both

d. Neither
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Semantics and Pragmatics

instructor: Abduirahman A. Alsayed

2™ lecture

http://www.classmarker.com/online-test/start/?quiz=baj50eb4e78377a7

- When we talk about the meaning of words and other

expression, we have to consider:
a. Senése
b. Reference
c. Since

d. Aand B

. Sense and referance are two vary ............. ways of laiking

atzout the meaning of words and other expressions.
a. Similar
b. Distinct
c. Confusing

d. Aand B

. Sense deals with the relationships:

a. inside the language.

b. Outside the language.
c. Both inside and outside.

d. All true

. Reference deals with the relationship between the language

and:



| a. The environment
b. The worid.

¢. The dictionaries.

5. The sense of an expression is its place in a system of
semantic relationships with other expressions in the
language. An example of these relationships:

] d. History
|

}

.

{

|
a. oppositeness of meaning (antonymy).
b. Sameness of meaning (synonymy).
c. Both true

d. Both false

6. The same word-form has more than one sense.

a. This happens all the time.

;
l
|
|
|
{ b. This happens in some cases.
j c. This never happens in English.
I d. All false
7. Talking about "sense" applies:
a. Only to words.
b. Only to sentences or phrases
c. ToAandB
| d. Neither A nor B

1' 8. One sentence........... have different senses.
| a. Can

b. Can't

c. Must

|
. d. Al false
|
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“I have an account at the bank.”

“We took the boat to the other bank of the river.”

9. In these examples, “bank” has a .................... in each
sentence.

a.
b.
cC.

d.

10.

Similar sense

Different sense

Confusing sense

AandB
“Rupert took off his jacket.”
“Rupert took his jacket off.”

In the above two examples, we say that both of these

sentence have the .......... sense.

o

o

11.

o

0

12.

. Confusing

a
b.

Different
Same
All false
“The chicken is ready to eat.”

The above sentence is an example of:

A sentence has two different senses.
A sentence has two similar senses.
A sentence has only one sense.

All true

As we know that "Reference" deals with relationship

between the language and the world, we got to know the term
" referent” and the term:

a.

b.

"referring pronoun"

"referring expression”
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C.
d.
13.

"Referent expression”
Subject

The relation between a referring expression and a

referent is what we call:

a.
b.

o

Q

14.

15.

Reference.
Utterance.
Occurrence.
All false

In the example:" This book”, the word (This) is:

A referring expression

A referent
A phrase
All false

In the example:" This book”, we can find that the same

refeiring expression .................... be used to refer to different
referents.

a.

b.

C.

d.

16.

Can't

can, in some cases,

Must
All false

While a referent of an expression is often a thing or

person in the world, the sense of an expression:

a.
b.
C.

d.

The same
May be a thing
Must be a thing

IS not a thing at all.




17. Every meaningful expression has sense, ............. every
meaningful expression has reference.

a. but not
b. and
c. but also

d. all false
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Semantics and Pragmatics
Instructor: Abdulrahman A. Alsayed

Lecture 3

1. Paradigrnatic relations are those into which a linguistic unit

enters through being ............ with other similar units. (vertical
relation)

a. Combined
b. Substitutable
¢. ldentified

d. All false
. Syntagmatic relations applies to relations holding between
etements thatare ........... with each other.
a. Combined

b. Substitutable
c. ldentified
d. All false

3. Words in a language can be grouped and classified into

different .._......... fields.
a. Paradigmatic
b. Semantic
c. Syntactic

d. Band C

4. A semantic field contains a group of words which are related

in their......

a. Pronunciation

b. Meaning
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¢. Construction
d. All false
5. Aword can be partof ..................... semantic field.
a. One
b. Main

¢. More than one

d. All false

6. Semantic fields can be useful {o compare a single language

at:

a. Two different time periods.

b. A one specific time period.
c. Three different time periods.

d. All false

7. The items within a semantic field are:

a. Compatible
b. Incompatibie
¢. Unordered

d. Band C

AR
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Semantics and Pragmatics
instructor: Abdulrahman A. Alsayed

Lecture 4

1. Certain words tend to appear together or “keep company”.
This is called in semantics:

a. Combination
b. dual
¢. collocation

d. all false

2. In collocation, a word's meaning:

a. Is always the same.

b. Differs based on its company.

c. Never changes.

d. Aand C

3. There are some restrictioin on collocation. One of these

restrictions is when they are based wholly on the meaning of
the item. An example of this is:

a. Green, cow
b. Bite, teeth
c. Bark, dog
d. Band C

4. There are some restriction on collocation. One of these

restrictions is based on range when a word may be used with
a number of other words that have some semantic features in
common. An example of this is:

a. The rhododendron died

Y



b. The rhododendron passed away

c. Aand B
d. Neither

. In the following sentences, decide the write collocation:

He spoke English witha ........ French accent.
a. Average
b. Widespread

c. Pronounced

d. Chronic

. His new novel has met with ........ acclaim.

a. wholehearted
b. Pronounced
c. Great

d. Careless

. We need to make sure that there is enough

accommodation to house all the delegates.
a. Wholehearted
b. Careless

c. Yellow

d. Luxury

. Your company has had a !long and fruitful

with mine.
a. Assignment

b. Association

c. Assessment

d. Assetls

"\



9. We had to choose from a motley

candidates.
a. Assortment

b. Assistance
¢. Association

d. assets

Vi

of



Semantics and Pragmatics
Instructor: Abduirahman A. Alsaved

Proponed by: Clos Bakn

Lecture 5

1. Synonymy is the relationship between two lexical units (words) that
have the .............sense.

a. Same
b. Different
c. Either
d. Neither
2. We can say about synonymy that:
a. Perfect synonymy is easy to find.
b. Perfect synonymy is hard to find.
¢. There are no real synonyms.
d. Band C

3. There are at least five ways in which they can be seen to differ. Cne of
these ways is when some sets of synonyms belong to different dialects
of the language. An example of this is:

a. "Fall" and "Autumn"

b. "Man" and "Chap”
c. "Liberty" and "Freedom"
d. Non of the above mentioned.

4. One of the ways some words differ in is when they are used in
different styles. An example of this is:

a. "Liberty" and "Freedom"

‘o
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b. "Fall" and "Autumn"

c. "Man" and "Chap"

d. Non of the above mentioned.

5. One of the ways some words differ in is when words may be said to
differ only in their emotive or evaluative meanings. An example of this

is:
a. "Liberty” and "Freedom"
b. “hide” and “conceal”
¢. "Man" and "Chap"

d AandB

6. One of the ways some words differ in is when some words are
collocationally restricted. In other words, they occur only in
conjunction with other words. An example of this is:

a. “addled” and “epgs”

b. "Man" and "Chap"
c. "Fali" and "Autumn”

d. AandB

7. One of the ways some words differ in is when many words are close in
meaning, or that their meanings overlap. There is a loose sense of

synonymy between them.
a. "Liberty" and "Freedom"
b. “mature” and "adult"
¢. "govern" and "determine"

d. BandC

8. Antonymy is the relationship between two lexical units {words) that

have the ......... sense.

a. Same
1



b. exact

¢. opposite
d. all false

9. There are three different types of antonymy. One of these types is
binary antonymy (complementarity). This happens when words with
opposite maaning comes in pairs. An exaraple of this is:

a. "parent” and "child"

b. "dead" and "alive"

c. "hot" and "cold"
d. Allfalse

10.0ne of the three different types of antonymy is Converses (relational
opposites).This happens when a word describes a relationship
between two things {or people). At the same time, another word
describes the same relationship when the two things {or people) are
mentioned in the opposite order.. An example of this is:

a. "parent” and "child"”

b. "dead" and "alive"
t. "hot" and "cold"
d. Allfalse

11.0ne of the three different types of antonymy is the Gradable
antonyms. This happens when two words are at opposite ends of a
continuous scale of values. An example of this is:

a. "parent” and "child"
b. "dead" and "alive"

c. "hot" and "cold"

d. All faise

12."permit” and "forbid” is an example of:

W




a. Gradable antonyms

b. Converses

c. binary antonymy {complementarity).

d. Allfalse
13."deep” and "shallow" is an example of:

a. Gradable antonyms

b. Converses
¢. binary antonymy {complementarity).
d. Allfalse

14."joy" and "sorrow" is an an example of:

a. Gradable antonyms

b. Converses
c. binary antonymy (complementarity).
d. All false
15."above" and "below" is an example of:
a. Gradable antonyms
b. Converses
¢. binary antonymy (complementarity).
d. Al false
16."teacher” and "student” is an example of:
a. Gradable antonyms
b. Converses
¢. binary antonymy (complementarity).

d. All false

YA
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17."far" and "near” is an example of:

a. Gradable antonyms

b. Converses
c. binary antonymy {complementarity).

d. All false

4



Semantics and Pragmatics

Instructor: Abdulirahman A. Alsayed

Lecture 6

1. Hyponvymy is a sense relation between words in which the meaning of
onz werd is ..................the meaning of the other.

a. Different to
b. Similar to
¢. included in
d. AandB

2. Hyponymy consists of an upper term which is called the ............... and
the “lower” term is called the hyponym.

a. Superordinate

b. Ordinate
c. Coordinate
d. Allfalse
3. If a superordinate term has more than one hyponym, we call them:
a. Co-superordinate

b. Co-hyponyms.

c. Co-ordiante
d. All false

4. A hyponym can itself be a superordinate of another term included in
its meaning. For example, “tulip” is a hyponym of “flower” and
“flower” is a hyponym of “plant”. In a case like this, we say that
“flower” 1S ..crieeeerercennennans of “plant” and “tulip” is an immediate
hyponym of “flower”.
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a. Animmediate hyponym

b. Not an immediate hyponym
c. Both possible
d. All false
5. There......................... 3 superordinate term for hyponyms in a language.
a. Is always

b. Is not always

c. Israrely
d. Allfalse

6. Synonymy can be seen as a special case of hyponymy. For example,
synonyms like “mercury” and “quicksilver”, zliso illustrate the
hyponymy reiationship because the meaning of one of them is
included in the other and vice versa. We call this special case of

hyponymy:

a. Symmetrical hyponymy

b. Semantic hyponymy
c. Lexical hyponymy
d. All false

7. The rule of Symmetrical hyponymy is that if X is a hyponym of Yand Y
is @ hyponym of X, then X and Y are:

a. Antonyms
b. Hyponyms

c. Synonymous

d. Obvious

8. Polysemy is a sense relation in which the same word has several very
eeeenesenesn MEANINGS (senses).

T



a. Closely related

b. Different
c. Distinctive
d. All false

9. Homonymy is a sense relation in which several words have the
ceneneeeeShape, but different meanings that are far apart from each

other.

a. Same

b. Different

c. Close

d. All false

10.1t is important to note that there are cases where homonyms differ in:

a. Writing

b. Speech

c. Either

d. Neither

11."Lead” (metal} and “lead” {dog's lead) have the same spelling, but
pronounced differently. In this case we use:

a. Homography

b. Homophony
c. Both

d. Neither

12.“site” and “sight” are spelled differently but pronounced in the same
way. In this case we use:

a. Homography

b. Homophony

Yy




c. Both

d. Neither

13.What is the semantic relationship between [or among) the following
words? If it is antonymy, specify the type of antonymy.

14.couch : sofa

a. Polysemy

-
1
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b. Synonymy

c. Antonymy
d. homonymy
' 15.vehicle : car, truck, SUV, bicycle
a. Polysemy
b. Synonymy
c. Antonymy
d. homonymy
16.5top: go
a. Polysemy
b. Synonymy
c. Antonymy - Gradable

d. Antonymy —Relational

17.Strong: weak
a. Polysemy
b. Synonymy

c. Antonymy - Gradabie

d. Antonymy —Relational

18.Addition:edition
Y
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Homophones

W

b. Homographs

c. Synonyms

d. Antonyms
19.Flower: flour

a. Homographs

b. Synonyms

c. Antonyms

d. Homophones

20.He tears his books: The sad person tears easily.

a. Homographs

b. Synonyms
c. Antonyms

d. Homophones

Yt




Semantics and Pragmatics

Instructor: Abdulrahman A. Alsayed

Lecture 7

1. in componential analysis, the total meaning of a word is being
analyzed into ........cceoecauenenne of meaning.

a. Only one component

b. A number of distinct components

¢. Few similar components
d. Allfalse

2. "There is an appropriate word in the language to label the
component”. This statement is:

a. Completely true
b. Completely wrong

c. True in many cases

d. Wrong in many cases

3. The words:“come/go” and “bring/take” are examples show that
-....components are related to simp'e physical features.

a. No
b. notall
c. all
d. BandC

4. A particular characteristic of componential analysis is that it attempts
as far as possible to treat components in terms of ........un...... opposites.

a. Binary
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b. Triple
c. Quaternary
d. Multiple

5. There is an advantage in such binary terms in that we can choose
only as the label_and distinguish this in terms of plusses and

minuses.
a. Two
b. Three
c. Four
d. One
6. Using (+) and (-) and {1 ) only where there is a clear.......
a. Distinction
b. Similarity
c. Both

d. Neither

i



Semantics énd Pragmatics

Instructor: Abdulrahman A. Alsayed

Propared by: Qb Bakn

Lecture 8

1. Views differ on the issue of universal semantic features.....

a.
b.
C.
d

In one extreme
Between two exiremes.
Among three extremes

Among seven exiremes.

2. At one extreme, there is the Sapir-Whorf hypothesis, whick.....

a.

3. The

Suggests that each language may "create” its own world and
so its own semantics.

Argued that components such as (male) and (female) are
found in all languages and that there are many others too,
e.g. the basic colors.

Both true
Neither
universalist view suggests thai there is a universal

inventory of semantic features (components). Cne of the three
claims that try to explain the relation between this inventory
and the actual features found in individual languages is the
strongest claim says that:

a.

All languages make use of the whole inventory and so have
the same features.

b. Each language uses only some of the features in the total

C.

d.

inventory.

Only some features are universal, while the rest are
characteristic of individual languages.

All false.

4. One of the three claims that try to explain the relation between
this inventory and the actual features found in individual
languages is the weakest claim says that:

Yy



. L !
1 .

a. Only some features are universal, while the rest are
characteristic of individual languages.

b. All languages make use of the whole inventory and so have
the same features.

c. Each language uses only some of the features in the total
inventory.

d. All false.

To explain the phenomenon of ihe weakest claim, we have to
consider some factors. One of these factors is the physica!
reality. An example of this is:

a. Distinguishing colors.
b. Distinguishing animals.
c. Both

d. Neither

To explain the phenomenon of the weakest claim, we have to
consider some factors. One of these faciors is the
psychological reality. An example of this is:

a. Distinguishing colors.
b. Distinguishing animais.
c. Both

d. Neither

In distinguishing kinship terminology 4448 4a we have to
consider:

a. Only physical reality.

b. Only psychological reality.
c. Cultural reality

d. Aand B

In the case of color terminology, too, there may be three
factors at work. When we talk about the green of living plants,
the red of blood or the blue of the sky, we use:

a. The psychological features.
b. The physical features.

¢. The cultural consideration.

YA



d. All true

9. In addition to physical, psychological and cultural realities we
face in explaining the phenomenon of the universalist view,
we face:

a. The contact between societies.
b. The common language origin.
c. Both

d. Neither

Y4



Semantics and Pragmatics

Instructor: Abdulrahman A. Alsayed

Propared by: Qe Babs

Lecture 9_

i Classify the following pairs by choosing the best classification:

1.

2,

4

5

6

easy — difficult
a. binary antonyms
b. converses
c. gradable antonyms
good - bad
a. binary antonyms
b. converses
c. gradable antonyms

pass - fail
a. binary antonyms

b. converses
c. gradable antonyms
husband - wife

a. binary antonyms

b. converses

C. gradable antonyms
parent - offspring

a. binary antonyms

b. converses

C. gradable antonyms
legal ~ illegal

a. binary antonyms

b. converses
C. gradable antonyms



7. present - absent
a. binary antonyms

b. converses
C. gradable antonyms

8. deep - shallow

a. binary antonyms
b. converses
¢. gradable antonyms

9. above - below

a. binary antonyms
b. converses
c. gradable antonyms

10. clean - dirty

a. binary antonyms
b. converses
c. gradable antonyms

11. husband — wife

a. binary antonyms
b. converses
c. gradable antonyms
12. early - late
a. binary antonyms
b. converses
c. gradable antonyms

13. The word (BARK) when used for a dog vs. for a tree is
hyponym because:

a. They are not obviously related to each other in any way.

y
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14.

15.

16.

b. They are obviously related to each other in any way.
c. They give the sense of similar meaning.
d. All false

The word (FORK) when used for a road vs. for an
instrument for eating is polysemy because:

a. They are not obviously related to each other in any way.
b. They are obviously related to each other in any way.
c. They give the sense of similar meaning.

d. All false

The word (TAIL) when used for a coat vs. for an animal is
polysemy because:

a. They are not obviously related to each other in any way.
b. They are obviously related to each other in any way.
c. They give the sense of similar meaning.

d. All false

The word (STEER) when used to guide vs. for a voung
pull is hyponym Lacause:

a. They are_not obviously related to each other in any way.
b. They are obviously related to each other in any way.

c. They give the sense of similar meaning.

d. All false

AR
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Semantics and Pragmatics

Instructor: Abdulrahman A. Alsayed

Lecture 10

1. An uiterance ic any stretch of................. , by one person,

before and aftei which there is silence on the part of that
person.

a. Writing
b. Dialog

c. Talk

d. All false

- An utterance is the use of a piece of language by a paiticular

speaker on a particular cccasion. This piece of language
could be:

a. Aword
b. A sentence
c. Aphrase

d. All possible

. It is an abstract string of words put together by the

grammatical rules of a language. This definition refers to:
a. A sentence
b. A phrase
c. An utterance
d. All true

- A sentence exists abstractly in the mind of language

speakers .............. they say it or write it.
a. At the time
b. Before

¥y
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c. After
d. Shortly after

5. When there is a situation where only one sentence_involved,
there is:

a. Only one utterance
b. No utterance at all
¢. Could be more than one utterance

d. All false

Lides | _

8. One of the types of utterances is the constative utterance with
which the speaker describes something which.........

a. Must be true

b. Must be false

c. May be true or false.
d. May be only false

7. One of the types of utterances is the performative utterance.
in this type of utterances, the uttering of the sentence is:

a. Part of an action.

b. Judged either false or true
c. Both

d. Neither

8. The utterance in “I name this ship Discovery” is:
a. Constative
b. Performative

c. Alternative
d. All false
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9. The utterance in “Pm trying to get this box open with a
screwdriver.” is:

a. Constative
b. Performative
c. Alternative
d. All false

10. Generally, we can consider the utterance of a sentence
as (performative) when the verb is used:

a. In a positive simple present tense sentence.
b. With a 1st person singular subject

c. Both

d. Neither

11. There are a number of performative verbs including:
a. Promise
b. Apologize
c. Thank
d. All true

12. Performatives can be either explicit or implicit. An
explicit performative ................. a performative verb naming
the act. E.g. | order you to go.

a. Contains
b. Does not contain
c. Both possible

d. Neither
13. Performatives can be either explicit or implicit. An
implicit performative .............. contain a performative verb

naming the act. E.g. Go.
a. Contains

Yo
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b. Does not contain

c. Both possible
d. Neither

14. If we look at the example: “There is a car coming.”, we
can say it is an implicit performative if it is used:

a. To describe something.
b. To make a warning

c. Both possible
d. Neither

15. If we look at the example: “There is a car coming.”, we
can say it is an constative if it is used:

a. To describe something.

b. To make a warning
c. Both possible
d. neither

16. if we look at the example: “! shall be there.”, we can say
it is an impiicit performative if it is used:

a. To describe something.
b. To make a warning

c. To make a promise

d. To threaten

17. The difference between performatives and constatives is
that a performative utterance performs some act and
simultaneously describes that act. On the other hand, a
constative utterance ............ perform the act.

a. Sometimes
b. All the time
c. Does not

i
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Semantics and Pragmatics
Instructor: Abdulrahman A. Alsayed
Propored by: Al Bobn

Lecture 11

. Speech act theory is a theory of ........... based on a book
called “How to Do Things with Words” by the Oxford
philosophei John L. Austin.
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a. Semantics
b. Language
c. Translation
d. Interpretation

2. Sneech act theory states that language is:
a. A mode of action
b. A way of conveying information
c. Both of the same level
d. 8 more than A

3. Speech acts include:
a. Locutionary
b. Hllocutionary
c. Perlocutionary
d. All of the above mentioned.

4. Alocutionary act producesa/n .................. utterance.
a. Reasonable
b. Specific
c. Original
d. Understandable

YA




5. Locutionary meaning includes:

l-' a. Sense

b. Reference
I c. Both
H d. Neither

6. There is a concentration on the locutionary aspect of the
speech actin .......... utterances.

a. Performative
Constative
Both

Neither

Q O o

7. Ore way to think about the illocutionary act is that
| S in making the utterance in the first place.

a. Reflects the intention of the speaker.

b. Does not reflect the intention of the speaker.
c

d

. Both possible
. Neither

8. Saying: “Ym very grateful to you for all you have done”
performs the illocutionary act of:

a. Personality
b. Social complement

¢. Thanking
d. All false

9. The periocutionary act is carried out by a speaker making an
utterance to :

a. Produce an understandable utterance.

b. Cause a certain effect on the hearer and others through that
utterance

¥4
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. ! c. Convey the intention of the speaker.
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10.

11.

a.
b
C.
d

12.

2 0 o o

13.

o oW

14.

a.

e 0 o

d. All false

The part “per” in “perlocutionary” means:
Through

Before

Each

All false

The perlocution of an utterance is the causing of an

effect to happen......

With the intention of the speaker.

. Without the intention of the speaker.

Both possible

. Both wrong

When the act is intended by the speaker, it is:
A perlocutionary act
An illocutionary act

Both possible
All false

Is not under the speaker’s full control, it is:
A periocutionary act

An illocutionary act
Both possible
All false

When the act is usually not evident until after the

utterance is made, it is:

A perlocutionary act




17.

b
c
d

15.

. An illocutionary act

. Both possible

. All false

The act of persuading someone, is perlocutionary,

because ............

16.

18.

19.

e o o p
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a. The speaker cannot be sure of persuading the hearer.
b. The hearer can decide whether to be persuaded or not.
c. The speaker is sure of persuading the hearer.

d. Aand B

A locutionary act has:
Force
iMeaning
Consequence
All true

An illocutionary act act has:
Force
Meaning
Consequence
All true

A perlocutionary act has:
Force
Meaning
Consequence
All true

An utterance in a sentence can:

£



|1 . Only be Locutionary
Only be Hlocutionary

Only be Perlocutionary
Have the three types in the same sentence.

i

o0 o w

20. In the example :“There is a car coming.”, we can find:
Only Locutionary

Only lllocutionary

Only Perlocutionary

The three types together

a0 o w

q 2 21.  Your teacher says, "For class tomorrow, piease iead
pages twenty-one through foriy-seven.”

a. Locutionary

b. Ilocutionary

c. Perlocutionary

d. All of the above mentioned.

22, You and a friend are talking about a television show thai
you both watched the night before. You say, "what did you
think about Luke's reaction to Laura's news?"

a. Locutionary
b. IHocutionary

c. Perlocutionary
d. All of the above mentioned.

£y




E Semantics and Pragmatics

Instructor: Abdulrahman A. Alsayed

Lecture 12 -
1. An utterance has ............... illocution at the same time.
a. One illocution
b. More than one
c. Both possible
d. All false

2. In the example: “Pass the salt.”, we can see:
a. One illocutionary act.

b. Two illocutionary acts.
c. Three illocutionary acts.
d. All false

3. The illocutionary in the above senience is:
a. The passing
b. The requesting
c. Both
d. Neither

4. in the example: ‘Can you pass the salt?’, we can find.....
a. One illocutionary act.
b. Two illocutionary acts.

c. Three illocutionary acts.
d. All false

£y




5. in the example: ‘Can you pass the salt?’, ithe illocutionary act
is:

Asking
Requesting
Passing
AandB

a o oW

6. In the example: “That will be 19 Riyzls, pleas2.”, we can find:
a. One illocutionary act.
b. Two illocutionary acts.
c. Three illocutionary acts.
d. All false

7. In the axample: “That will be 10 Riyals, please.”, the
illocutionary acts are requesting and:

~ a. Asking
b. Demanding
c. Inquiring
d. informing

8. In examples with two iliocutions, one of the illocutions is
called direct and the other is:

a. Semi-direct
b. Full direct
c. Indirect

d. All possible

9. In example ‘Can you pass the salt?’, the direct illocutionary
actis:

a. An enquiry about the hearer’s ability to pass the sait.

b. A request that the hearer pass the sait.

££



11.
seern through the fact that:

-

i2.
categories, depending on:

13.

c. Both possible
d. All false

In the example: ‘That will be 10 Riyals, please.’, the

................ is a request that he pays that price.

a. Direct illocution
b. Indirect illocution
c

d

. There is no illocution at all.
. All false

Utterances with two direct and indirect illocutions is

a. Adeliberately unhelpful reply can be given.
b. A deliberately helpful reply can be given.

c. Only helpful reply can be given.

d. BandC

locutionary acts can be classified into different

a. How the speaker conveys his meaning.
b. How the hearer reacts.

c. The type of interaction between the speaker and the hearer
that they perform.

d. All false.

One of the classes of illocutionary acts is directive act.

In this class, the iilocutionary act essentially invoives:

a. The hearer
b. The speaker
c. Both

d. Neither

to
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14. The directive act invoives the speaker to:

a. Get the hearer to behave in some required way.
b. Get the hearer understand.

-i

c. Make things clear.
d. All false

15. Ordering and suggesting are .............. acts.
a. Directive
b. Commisive
c. Non directive
d. All false

16. One of the classes of illocutionary acts is the
commissive act. This type essentially involves:

a. The hearer responding to behave in some required way.

b. The speaker committing himself to behave in some required
way.
c. Both the hearer and the speaker.

d. Al failse

17. Promising, swearing, or offering are:
Directive acts

Commisive acts

Both

Neither

o p oo

18. In the example: ‘7 would like some water.” , there is a
(requesting). Therefore, the illocution belongs to:

a. Direct directive illocutions
b. Indirect directive illocution

c. Direct commissive illocution

£1
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E d. Indirect commissive illocution

19. In the example: ‘Stop.’ , there is an (ordering). Therefore,
,H i the iliocution belongs to:

a. Direct directive illocutions

b. Indirect directive illocution
¢. Direct commissive illocution
d. Indirect commissive illocution

20. In the example: 1 swear F'll be there tomorrow.’ , there is
a (swearing;}. Therefore, the illocution belongs to:

a. Direct directive illocutions
b. Indirect directive illocution
¢. Direct commissive illocution

d. Indirect commissive illocution

21, in the example: ‘/ promise to be there promptly.’ , there
is a (promising). Therefore, the illocuiion belongs to:

a. Direct directive illocutions
b. Indirect directive illocution
c. Direct commissive illocution

d. Indirect commissive illocution

22, In the example: . ‘Can | help you?’, there is an (oifering).
Therefore, the illocution belongs to:

a. Direct directive illocutions

b. Indirect directive illocution

¢. Direct commissive illocution
d. Indirect commissive illocution

23. In the example: ‘Go away.’, there is an (ordering).
Therefore, the illocution belongs to:

a. Direct directive illocutions
£y
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b. Indirect directive illocution
c. Direct commissive illocution
d. Indirect commissive illocution

In the example: . ‘f you need me at any time, just call.’,
there is an (offering). Therefore, the illocution belongs to:

a. Direct directive illocutions

b. Indirect directive illocution

c. Direct commissive illocution
d. Indirect commissive illocution

1A



Semantics and Pragmatics

Instructor: Abduirahman A. Alsayed

Lecture 13

1. One of the following DOES NOT apply to a normal
conversation:

a. A speaker tries to give relatively specific answers to
questions.

b. A speaker tries to avoid giving new information that the
hearer doesn't already know.

c. A speaker tries to give information that is relevant to the topic
of conversation.

d. A speaker tries to give information in a way that is easy to
understand.

2. “Be as heipful to your hearer as you can”. This statement
ieprasents:

a. The Co-operative Principle

b. The Operative Principle.

c. The Co-understanding Principle.
d. The understanding Principle.

3. This principle is applied by:
a. The speakers
b. The hearers
c. Both
d. Neither

4. Being co-operative in conversation obviously involves:

a. Telling the truth.

£4
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6. Truthfulness -~ do not say what you believe to be false. This is

7. Ralevance — keep to the topic of the conversaiion. This is the

8. Informativeness - tell the hearer just what he needs to know,

b. Being co-operative.

c. Both together.
d. Neither

5. Paul Grice developed four components of conversational
cooperativeness called:

a. The four Pauls.
b. The four Maxims

c. The four components
d. All faise

the Maxim of:
a. Quantity
b. Manner

c. Quality
d. Relation

Maxim of:
a. Quantity
b. Manner
c. Quality
d. Relation

no more and no less. This is the Maxim of:
a. Quantity
b. Manner
c. Quality
d. Relation



9. Clarity — speak in a way that the hearer will understand. This
is the Maxim of:

a. Quantity
b. Manner
c. Quality
d. Relation

10. When one or more of the maxims seem to be violated
but the hearer assumes that the speaker make a relevant reply
to his question, this is called:

a. Implicature
b. Implication

c. Utterance
d. All false
i1. Implicature is related to the method through which
speakers undersiand the......... of utterances.

a. Direct illocutions
b. Indirect illocutions

c. Direct locutions
d. Indirect locutions

12. in a case of implicature the hearer assumes that the
speakeris..........c.-.... one of the conversational maxims.

a. Not violating

b. Violating
c. Ignoring
d. Notignoring

13. if your spouse asks, "..have you seen my car keys?"
and your answer is:” Yes, it is on the table.”. Which maxim
does apply?

a. Quantity

-
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b. Manner

c. Quality

d. Relation

14. If your spouse asks "How was your day?" and you say "I
hate tomatoes”. Here the Maxim of ....... Is violated.

a. Quantity
b. Manner
c. Quality
d. Relation

15. If your friend asks, "How does my new shirt lock?" and
vou respond "It's interesting,” you have broken Maxim

a. Quantity
b. Manner
c. Quality

d. Relation
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